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Ol axya) geolgall (i 9 Hslacdl was lax ase auyell aasell Ol o pe)l sle
gs050 Jsli sl wiSUl 0l V] cowliodl GUSII skl Volwo St g8, o as Ul
lis o8] piss au,ell auSell pucaid dolxo 9 9 ,Lu,85 doglso (La compilation) dos il
poin Aoy 4,0,S) &wlwll wlghs)l dogpio o alpw Adyky gy Ul OLSUI
oJ] @onsio a2l >lgST oy pyiodl 138 dage WeSs Ul s V el Lol (Compilateur)
oo Jo 9,550 (sl @8 o sleSVI Jg=o zrolyy @seo ) OLSUl Jlasiow| oSou Jo &Vl &gl

5,,¢ 9 JAVA _sJ] ol PASCAL (sJ| C a2l o0 Jg=i sl & il grolpdl @lioVI 500

&o oWl wlesW uo,e i oo 9 lpdsol 8 dnzydl e asw aodion WS Jpiwiow
SlosVl &b @i Wagdl hww Jbio wsJ] Bphw Ud as lpawan &asS 9 Lloss by,
9 b9l dghas o> io Az AntsS 2o o LSl sy JoSid LSl i (8 dlasiuoll
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oo lod,ue o JSLwll ol ol 525108 o p2yio &xoy 59 logs 0,88 D ..ol
Jolssow 9 ,Jassiwoll pud Lol 9 5owdb o 98 U=l Swso oVl Ol asies Js Solell

20 p o 8o wlghs puog Ol Al USL LLSJI 13 (s

AQolio .1
ey posy Uld Lewlxdl W b o dogpeo aslll 0id oS I35] b aal, LgiSo zwl,y Ly
59Ul s wuxed gl B3k o dogpin sue 2oyl &) il 13] Lol ,8,islio olsll
ado=ll 0is ,(code cible) ,ugwlxdl Wb o pgpeo 395 (sJ| (texte source) ,xraoll
a2 sl saan a2l o 39S Ao pedy Lo dely LeiSo zwliy 98 piedl o=l (oo

Programme en Programme en
langage source langage cible

Analyse Analyse | Analyse (rénération
:lrl\/‘ lexicale :D‘ syntaique :#I de code :>

l

Grestion de
la table des
svmboles

~ gl 4035 Joloa -

Aozl J>he sle a8k (il

:L'analyse lexicale (1

oo sl 5 OlalS)l zhaiwl Ua pxyiodl oo ,Jul=idl oo (sJsVl @l ,oll
Haandl 3680l oo sl 13 sV Mo 89,5l oo @l oo BVl tokens

fori := 1 tovmax doa:=a+i;
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: tokens JI o aswdoudl 048 & 3w

for (mot ¢l ;920 aolS
i (identificateur) W, =0
= (affectation) >low]
1 (entier) gu=o
to (mot clé) 8;9x=x0 aolS

vmax (identificateur) W, =0
do (mot clé) 8;9x=x0 aolS
a (identificateur) W ,=0
= (affectation) slowl|
a (identificateur) 8,20
+ (opérateur arithmétique) awol, adoc
1 (identificateur) 8,20

(séparateur) J.old

d,Le 99 (table des symboles) ;90,Jl Jga> sy pgss 598l Jud=i a2 9 8 ilo
(VS UgSy g token S Lailas Joxi wluS,i dcgozxo o @oild ¢

Numeéro de Token Type de token Type de
symbole variable
1 for mot clé
2 to mot clé
2 do mot clé
3 ; séparateur

9 sdaodl 3¢Sl Jd=i (L'analyseur lexicale) soxsoll J=xoll pg8, syl 0ip,
H=odl 0l ,cdasV 18 wisS Ul g — wixdbhaoll dGo>, wxo U= 90,1 Jga> <l
U audl blod puxo W Sl Ols &) g tokens Jl wwisiw pigs V ssoxsoll

for for for i:=:=10

do for aa;

:analyseur lexical

J"analyse syntaxique ol o=l Jul=dl j95 sl Ld
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:L’analyse syntaxique (2

ko 8o, oy ol aelll e (39lge tokens JI wuwiy ol (gixi @>yoll 0id (s
oo dcgozo oo BMbs| 138 UsSy 9 @l Loll gl o (e Wil Joas Ol gubniww |, lg)
JI plaziwl (arbre) 8, sbw Szl Jxoll 098 ,grammaire (oo b ol aclgsll

rswoxsoll J=odl d,9q, sl tokens

fori := 1 tovmax doa:=ati
Instruction
Inatruction For
I
[ | I I I |
I T I Initialisation [ o h Expreasion I dis :| Inatmciicn
|
I |
Location Expraas ion Location Affectation

1 Ident: i I

I
. | fTH J | |
@ (]duut:a] ( = ] Expression

I
| |

Location

- ozl Judzadl ey a5 psiiaod] gzl 8zl -

Location

s +

r Wl JSoadl (sde @820 0gSH Lpsld gmil) sazeoll aclgall Lol

prog -> debut inst fin point

inst ->

| ident affectaion expression

expression -> ident

| entier

| reel | ...
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:L’'analyse sémantique (3

2>V bacwiow sl doudll ol Mo asbs (L'analyse sémantique) Sgizoll Jul=l Ll
1388 9 pues susia) Auii> doswd Slaw] oz V3] pusiall g9 pudi o LESH Wl ykioll

:Génération de code (4

1Vl 4z (o @9 asly 59S) Jlio 13a 5 gaoall @2l ol @Vl sl 368 gl Lis pois

var_a A0000 : les étiquettes des variables
var_i A0001

var_vmax A0002
: le code du programme

mov var_i,1

loop

mov AO, (var_i) ; comparaison i >= vmax

joe A0, (var_vmax), finFor ; sivrai aller en finFor

mov AO, (var_a) ; calcul de a+i

add AOQ, A0, (var_i)

mov var_a,A0 ;a=ati

mov AO, (var_i) ; on incrémente i

add A0, A0, 1

mov var i, 1

jmp loop ; et on continue la boucle
finFor
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Jos)l wldbio 9 BISON g LEX .2

aclgd sax 8 o B a0l J>lho e o> 8aiso g o> aeyyw Goadoe ol wolS
8,k siiliw Sgizoll § Szl § (sozxeoll Mol o 10w 9 lpoaziwiow sl agll
BISON g LEX Lo g cpuiopo ouildl csde

Scanner o o o ol (Analyseur lexicale) csoxso M=o o pgsi dlsl s LEX
9 d>9>90dl @9 ,=)l Ml asslaod (patterns) Jlgd LEX  Josiww ,C a2l weiSo
weSs tokens JI ,Se=ll JU=odl (sJ| L] 05 o 9 tokens (sJ| lplig=i 9 ;auaodl g3
Sy wld X puiodl Wio az boase scanner JI ol sl aul @sac wld,ee e 8,Le
9 ol powl @ Jowyy Lol ¢ IDENT ,Si 9 wlusiol) @lioaoll token JI Sg=dl Jlxol)
oo @y g aceS anilas> s 9 table des symboles 590, Jga> (sJl adlesl gy

wailazxll

Ll &, ¢ (Analyseur syntaxique) Se= Jxo) C aslll 8,85 L gy YACC ol BISON
i 9 scanner Jl ;o @oslall tokens JI Jud=d agll aclgd Bison Josiw ,parser Jb
:YACC g LEX JI o Uglesdl auisS 6,0.0)l 038 Jiod ,qug= 8, Lol

(yyparse) source
bas.y # VACD  [— tAl
F ¥
y.tab.h CC e has.EXE
r
basl Y f— O l
(y¥ylex)
compiled output

Jozwd bas.| waloll Ll parser U oy Josw bas.y wlodl (slwdl JScidl cows o 13
o€ aunai |Adg tokens JI w2 Seg=s 9 YACC JI oudgs y.tab.h waloll ,scanner U wonog
ry.tab.h walell (59 tokens JI a>

#define  IDENT 102

lex.yy.c (YACC JJ auliwo 98 9 BISON Josivwiw) YACC g LEX o JS W 2y &S oy
.(parser) Sg=ll J=oll ¢ (scanner) csoxsoll M=ol i)l (sde lod g y.tab.c g
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awbodl e Jaxi y.tab.c g lex.yy.Cc oo JS pxw C a2l wlosyio 351 Jlosiwls
Lwlgs .ouaxdl o> si0ll 98 9 bas.exe solpadl

Cels Jea) Olgsl o zlizeiow 15k

: blg,Jl 03a 2>l 138 0 TURBO C++ 3.0 Juoxis 08 Vel
http://www.4shared.com/file/227985692/6671fd89/TC30.html

http://www.mediafire.com/?iyjt4zoej2m

http://www.snapdrive.net/files/618263/CompilerLesson/TC30.zip

5> il les ,DI\TC\BIN 1 ssVIS bin alxoel]l Hluio WsSy Cause D\ Losrall (88 @i o8
Sladl luwdl (89 cauio Wl pwlwl wsde UeSuw 2omidl oSJ g UlSe ST (W8 @i o9
.C 5lgST &o>,:) D:\TC\BIN\TC.EXE 2wl ! Josiowiw WY

ylg,)l 038 31 o loglo> ,BISON ¢ LEX
http://www.4shared.com/file/227982793/8d639f91/Lex Yacc.html

http://www.mediafire.com/?52ym5eyydom

http://www.snapdrive.net/files/618263/CompilerLesson/Lex Yacc.zip

cwadd D:\ poysll 9 Lex_Yacc a=oll guwly Lex_Yacc.zip wloll (e henll o) 08
ol o UeSow Silg Di\Lex_Yacc\exemples al=oll &lyoJ

wJl D:\Lex_Yacc\Lex\bin al=oJl 9 D:\Lex_Yacc\Bison\bin sd=oll o JS wlgixo awui
G Ul ppall ,Ci\ Lord)l (88 @uio 939l wolS 13] 1id leds C:\WINDOWS | Luxol!
D:\Lex_Yacc\Bison\share alxoll gouul Lusl ,plbadl Lol WINDOWS  slsoll (sl
lgsVl b 18 weSs Ld ,IJ5le> 8 Ci\share ,Luoll ) auad C:\ Losall sl aloSh

Al &S, sde T ,Josl) @M

9 5+5= Min , 9w dac o aulus> wldoc (sle Sgix) o dcl,8) pgd) Gy CH+
Lol o098 9 10%¥1002-207100*3+3=

ol swzxeoll Jxoll &L, laa) ,Di\Lex_Yacc\exemples o)l Sgiwe (sde Josiow
.scanner ol L’analyseur lexicale
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oo WSy Swaogll S weSy wlS ,scanner J C 3¢S 98 W Mgd Luseo laog LEX U poadiow
Ul sl

e L= 5= wlay ...
%%

.. Aclgd ...

%%
e~z | 13- auc 8 Jlgs ...

CslgST Lass + Lol g2 Lpld aclgall ¢ wlay,edl bl ,C gl 3¢S e 8,le duc,all Jlgall
r Wl 368U Sy 8,Saoll usl

%{

#include<stdlib.h>
#include"D:\Lex_Yacc\exemples\expy2.h"
%}

blanc [ \t]+

chiffre  [0-9]

entier  {chiffre}+

9 %{ suioMell G olisS Ui oC asly 39S aslo] (sl Lizisl 28) ,wley,edl &LSH Lod
alol a5V gp8 expy.2h walol) Wlosiw! bl ,stdlib.h auSell o @ls (J] zliziow ,%3}
i) 32 Llowd BISON oxJgy waloll Uis (3lss V a2 lowd tokens JI wlay,si Sgmew Sil
ad lod -6,u3V jgh w3 ol e53dl ,olan,eil o JgVI 5=l s 0Vl bolossl 0,5 M
Cosusi 13bo ,yaanll 3¢SUl 0 tokens JI dusai) Llosivwiow sl lgall Lasy o guraill

:entier g chiffre g blanc , Jlgd oW LuaJ

blanc [\+ ST ol gle ,olelall JS
chiffre [0-9] 9 JI 0 (o slaeVIl S
entier {chiffre}+ ST ol axlg sac oo @lwdow

Lpwilen o Llgall slisV Lplosiws sl Bgy=l Jga> lis

] \n <l L;u.9)>\J|JS
\n > Hlbw

* L) @ ludl 8,Ledl oo ,iST ol @ La0

10
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+ LpJ assludl 8,Ll oo ,iST ol da>lg aenus
? LeJ @ ludl 8,Lel oo oo V ol da>lg denus
" ool &l
$ ool &l
alb bola
(ab)+ ab aludiwdl (o ST ol Az
"a+b" Lé,> a+b alwdlull
I Z._S\l!ag,.ou.épy|JSM[a-Z] ,u.'9).>=\1|u.o<'fl.i.'9
tdoazll lis b>V aeidVl Las e JkaSe
oLl Wl Uil
abc abc
abc* ab,abc,abcc,abccg, ...
abc+ abc,abcc,abccg, ...
a(bc)+ abc,abcbc,abcbcbg, ...
a(bc)? a,abc
[abc] a,b,c
[a-Z] Z 98 o 9y> S
[a\-z] a,-,Z
[-az] -,4,2
[A-Za-z0-9]+ (slacVl s (59 Lou),iST ol ,>
[ \t\n]+ wlel,all
[~ab] bga cbiiwl sesui Sl
[a”b] a,™\,b
[a|b] a,|,b
alb bola

Bel,d  xd aondy Lols

2w 5 >0y ST lalw 8,Saoll (08 awsS Sl 563Ul auay ligy
rewad (ladl 5681 (Jl seSUl id wanl oSl 1is

1%

#include<stdlib.h

{%

blanc  [\{]
chiffre [0-9]
entier  {chiffre}

o9

<

#include"D:\Lex_Yacc\exemples\expy2.h "

—+

11
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{blanc}

{entier} {
yylval=atoi(yytext);
return(NOMBRE);

}

"+ return(PLUS);

i return(MULT);

return(MOIN);

A return(DIVS);

e return(PUIS);

"(" return(PARG);

" return(PARD);

=" return(FIN);

\n {}

%%

Jsiw 15k ,80cl8 11 Jis ,%% o %% (pioMell w98 5 sclgall Lolsl e3=)l Lol
v J28] e e 15] o8 acleall asl @bl JSu § LEX I

eaw scanner JI ol sl (seswn V) J=8] {blanc} wasg 15] , sJoVl saclall Mio
a0 b Ll 9 aiomyiu pgidiow Sl calodl (88 839>g0ll wlel,all

=9l {entier} wax>g 15| ,aslll saclall
yylval = atoi(yytext);
return(NOMBRE);

uxo pd), w9 lpde Lla> sl token JI aud e return(NOMBRE) ; suldl ol
caloll (58 Laxg 15 Mio ,parser ol o=l J=oll sJl (entier)pazeowol! Il coms>
,5SJg NOMBRE s s token Jsl wld 5+5= ados)l alsly bb cowsiw il
poss parser JlI Jl W, 09 scanner JI ade jic siJl NOMBRE JI aod (oJl gliziow
J=salg ,parser JI g scanner JI u Juog 8508 e 8,Le gdg Yylval jusiodl (J| Wdslowl
alS_iiodl W =l dludw Joz Sl yytext jusiodl (8 859>g90ll &8 ,=l dousll Jg= el

stdlib.h auSedl J5Is 859>g0Jl atoi il Jlosiowl puxs sac | (gillai ,>V

5| aseolgy dlpw dacls ,(PLUS :aJWl token JI acl) J=8l + wasg I5] ,adll saclall
Jid oo sesaw ol lpiowd (sl e zlisw o Jg PLUS La>g Wil parser U Jgall (sasSiow
aJl saclal (o] wdis o token JI auss bhss

(sosois V) J=8] (1a> shw) \n wasg 18] 6,5Vl saclall

12
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D:\Lex_Yacc\exemples Luwoll s 308J U35 Sas I3l ,scanner JI cavg WVl Llgsl
9 i V su> ,scanner U C 5gS LEX aJgy FLEX expl2.l oVl Jlosinwlg ,expl2.] ouwl
ra Ul HoloVl S| g 8,Sanll puss pd oVl iSs g Lugl 8380 puas 6,0 JS

FLEX expl2.1
Pause

wde eSS Jues ,D:\Lex_Yacc\exemples sdxoll & FLEX_2.bat o_wl aloll Lo pJ
ra Ul il e Ja=id flex_2.bat  sed.J] caloll

o Cwindows\system32\cmd.exe

D=~ Lex_Yaccwexemples *FLEX expl2.1

D:Lex_Yaccwexemples »pause
Appuyez sur une touche pour continuer. ..

g las JS Ulso g slasVU @lw, LEX el Lo ew slas] sg>g s oo ,clasl a>g V
Sl D:\Lex_Yacc\exemples ;Luwdl 8 lex.yy.c wlodl adgi gl LEX 08 a8) ,as.09
.L'analyseur lexicale gi scanner JJ C ¢S Jioy

oS, esilpidl 2wl cro JoVI ol lls

:(grammaire) aclga)l saziw YACC wany &S Tow ol Jud

Input -> Input Line | £
Line -> FIN | Exp FIN
Exp -> NOMBRE

| Exp PLUS Exp

| Exp MOIN Exp

| Exp MULT Exp

| Exp DIVS Exp

| MOIN Exp

| Exp PUIS Exp

| PARG Exp PARD

¢S s bo

13
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B susew sl tokens JI Jiod 8,08 Bg,m0 @ugiSall GladSUl sV ol £1,9 iz £ 50,
.(symboles non-terminaux) &usles e 50, wspd wlods)l 8L Wl , scannerJ

B85 5+5%9= aluddl Ja Mio ,Jlio gt od asbull aclosll ppa) @b s
¢ & Luwdl grammaire Jl bog i

Input -> Input Line
-> Input
-> Exp FIN
-> Exp PLUS Exp FIN
-> Exp PLUS Exp MULT Exp FIN
-> NOMBRE PLUS NOMBRE MULT NOMBRE FIN
->5+5%*%9=
adlo e aviw 8,59 dhbecw lia ,Input o VM| 5+5%9= §,Lell (sJ| Llog 3]
>V lposzuowow wall aclgsll

: Wl 5980l LS| g 8,Saoll pusl 5o

%{

#include<conio.h>

#include<stdio.h>

#include<stdlib.h>

#include<math.h>

#include "d:\lex_yacc\exemples\expl2.c"
0%}

%token NOMBRE PLUS MOIN MULT DIVS PUIS PARG PARDFI N
%left PLUS MOIN

%left MULT DIVS

%left NEG

%right PUIS

%start Input

l>lizw walss &S 98 @ Ll b Jol ,parser JI YACC aio Mg Sl cavgll &S Ll
%{ oMl L 989 C a2l LgiSo puwd ;i ledl o cuoswd Jbd aclgall &S Ll
calodl awss 9p9 expl2.c waloll e Jslwis wuS 15] ,C @zl wgiSell 68Ul zuoly ,%) o
A2 lowd donwl jusiow hsd |, gsLudl scanner JI 595 Jo=s Sl lex.yy.c

2wl Liod Yotoken 8 95meoll dnlSJl Jlomiwl Lol wavg 98 398Ul o soldl oosl]
:tokens 9 LyaJ g ,parser JI ¢ scannerdl o JS Llosiwww il tokens JlI e
. NOMBRE , PLUS, MOIN, MULT, DIVS, PUIS, PARG, PARD, FIN

gozdl o Sodl 98 Sl Urall o Sedl doowdld ol Gldoec <> sl auglyl Jla
25 5%6 oo Wld 54+5%6  Glws i Mio ,olwsdl @uglyl S8l @alSy adly 2,k o
t ol Lol iglg ,5 sasdl @aswssl (sl s

14
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%left PLUS MOIN Lol csle s,= ldosllleo 2 k)l g gozl) @glsl 8]
%left MULT DIVS Ol el LudU 1o 568l O yiall ¢ donsll

%left NEG Qi b o Sodl (el

%right PUIS ouodU 1o SJs ,adw bo (o Sodl 868 (sJ| 9]l

Jl iy oo izl sl Lpao 1w ol daclall aud sass Y%start Input L.Vl ol
.scanner J| 0 aoslall tokens

evean) bl 593Ul s ,d0;WI acleall @S (sd dulidl > ol

%{
#include<conio.h>
#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include "d:\lex_yacc\exemples\expl2.c"
%}
%token NOMBRE PLUS MOIN MULT DIVS PUIS PARG PARD FI N
%left PLUS MOIN
%left MULT DIVS
%left NEG
%right PUIS
%start Input
%%
Input:
|Input Line

Line :FIN
|Exp FIN {printf("=%d\n",$1);}

Exp :NOMBRE {$$=51;}
|[Exp PLUS Exp  {$$=$1+$3;}
|[Exp MOIN Exp  {$$=$1-$3;}
|[Exp MULT Exp  {$$=$1*$3;}
|[Exp DIVS Exp  {$$=$1/$3;}
IMOIN Exp %prec NEG {$$=-$2;}
|[Exp PUIS Exp  {$$=pow($1,$3);}
|IPARG Exp PARD  {$$=$2;}
%%

15
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saclall ,6ucld JS (s8x5 auc J=as 13l parser JI L] o aclgall &bS ¢ olded b JS
ol £1,9 Lol ;o mis  sdasiw Input ,&loll @hss (sdg ,Input : Input Line | ; s sJoVl
.A=olgg alpw ,Input Line

o9 Sgie sle Wreo 98 S "=" W,=l sdg) FIN lubss bl ,Line ,asldl saclall
5L ,printf("=%d\n",$1) ; Jloziwl &wlusdl ddosll @ wisSs Lag ,Exp FIN of (LEX
¢ $1 50, vy

L ,Lé,b 9 oz sl tokens JI g je0,)l pud il o wsdaws Ol LSy (sazadl <Usl
g9 Ldlosiiw] Us,l 15] FIN @oud bl ,$1 o @820 oo EXp doud duladl (sle wuSicw

13Sag $2
&9Snll 50l pud 8c1,8 ol oud sbewY § ] @i 9 ol wa Jid saclh JS s9
$X Josiows e saclal)

Exp -> Exp

$$ 41

L'analyse )Sgizo)l Judssl &b 98 $$ of $X plaziwl ss0,)l pud Jlosiwl leub
o8l pigs V L'analyseur syntaxique ol Sg=ll J=oJl (sémantique

robls aolos Al Ludesi EXp ,EXp w @zl @l daclall (oJI Jaio
Jlowiwl Exp sl 08,)] doud (sdaws Jaaw 0V Exp -> NOMBRE al> (s .
,S31 laS Action sémantique 26,3Vl &S,2J] 038 (o 9 ,$$=$1 ;

el Sl e ol Exp Ll cloww 0V Exp -> Exp PLUS Exp al> (o .
, $$=$1+$2 Jlomiwl 138 J=ai 9 dacla)l uow wsle wsidl EXP ggomo doud iU
alslowdl aclga)l 83l @b ssuidl Guss 13Sag

dacli)l 0D o dad e > s JUd Exp -> MOINS Exp ddls> 9 .
L) b 2obll adoc lpws b o GadWl elli Sy ,-112 Mio wsaill dls
NEG aglel lpuhss ligly Vol -5 s Lild -5/6 Uazg 15| Wio ,Sead @uglsl
Exp sJl —=Exp éoudll slhac] g9 zuoly 8Ll Lol ,prec NEG% aouled! Jlosiwl

. $$ = $2 jJbeiwl ,ludl e sl

9 (37"2=9)dg8)l oJl 29, gy 2nsid Exp -> Exp PUIS Exp al=l) acwadl .
ol S math.h asSell 9 é59>g90l pow all Jloeiwl lpowsow
$$=pow($1, $3) ;
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main() aww,Jl Al e 2 ol W s parser Jb aolzl aclos)l ouwd g b sJl
rauc o)l Jlgadl ouud o9 |idg

%{
#include<conio.h>
#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include "d:\lex_yacc\exemples\expl2.c"
%}
%token NOMBRE PLUS MOIN MULT DIVS PUIS PARG PARD FI N
%left PLUS MOIN
%left MULT DIVS
%left NEG
%right PUIS
Y%start Input
%%
Input:
|Input Line

Line :FIN
|Exp FIN {printf("=%d\n",$1);}

Exp :NOMBRE {$$=%1;}
|[Exp PLUS Exp  {$$=$1+%$3;}
|[Exp MOIN Exp  {$$=$1-$3;}
|[Exp MULT Exp  {$$=$1*$3;}
|[Exp DIVS Exp  {$$=$1/$3;}
IMOIN Exp %prec NEG {$$=-$2;}
|[Exp PUIS Exp  {$$=pow($1,$3);}
|IPARG Exp PARD  {$$=%2;}

%%

int yyerror (char *s)

{

printf("%s\n",s);

}

int yywrap(){

return 1,

}

main()

{

clrscr();

if((yyin=fopen("d:\lex_yacc\\exemples\\input.txt", "r"))==NULL)

17
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{
printf("input.txt not found \n");

getch();

return;
}
yyparse();
getchar();

}

ol Uns £999 aic parser JI W b oo e il yyerror() oudll slwsl wuyen Lod
alladl ,853=0ll aclgsl)l go scanner JI W8,b o alw,oll tokens Jl iy (ol pac
Oldol 3l e 0dd Ll (s899 wMsaodl Sle duie (seaiwsg Yywrap() o auslll
NPT BWESINJVN ]
Sl 13 ,main() al.Jl
Jlaziwl -lplws sholl olles)l (sle Sgizuw SUl- input.txt waloll zuss pgis Vol
9,20 o 98 9 YYIN jusiell (| ,wdell s i jalol) 1 de L] ausi (sl fopen()
loll 2o bl Uas 399 wlls 8 o ,oMsaell wlo Jiow 9 YACC Bk o i
8995 ¢ Uns allw, Lo, input.txt
olisog Sl Jodl JSu pgsig parserdl Lo Jios sl yyparse() alladl cseasows s sy
Laylw
,D:\Lex_Yacc\exemples\expy2.y waloll (sJl §,Sao)l (59 oy oo oluiS o bhasi VI
839U 9 yolol &LS e Loge ,BISON Josiwinw LEX Ly Wlasiow! sl @asydall Guaig
=)l JsIs  BISON_2.bat  eowl  wia> w9 wle  &swiwl el
i b 4 wiSlg D:\Lex_Yacc\exemples\

BISON -d expy2.y

Pause

sl 03 (sle Jamiw 5 sl csesall waloll (sde LIS Jugs

e C:windows\system32\cmd.exe

D:sLex_Yacchexemples>BISON —d expy2.y

expy2.y:31: warning: previous rule lacks an ending ;'

D:sLex_Yacchexemples »pause
Appuyez sur une touche pour continuer... _

¢d expy2.tab.c waloJl ,expy2.tab.h g expy2.tab.c lod g cuilo BISON agrw Lol
,TURBO C++. plaziwl aosiw Sl wloll 58 sJWbg main() alul a sl aloll
Jsls dlosiwl J=l oo tokens JI wla,s sde Sgiz 9p9 expy2.tab.h walodl Lol

18
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o JlosiwY ol [ia Jla expl2.] ]l oy wlo a9 ;S wuS 135] 9 scannerd
:tokens JI wlay )i

%{
#include<stdlib.h>
#include"D:\Lex_Yacc\exemples\expy2.h"

%}
expy2.h Jl aoowl jusiow ,alSiiw cowd ! expy2.h yud 9 expy2.tab.h aoowl SJg
20Vl (snpiils
Load expy2.y oWl oy walod acwidU sl juss

%{

#include<conio.h>

#include<stdio.h>

#include<stdlib.h>

#include<math.h>

#include "d:\lex_yacc\exemples\expl2.c"

%}

i eesaid] e 1 expl2.c suds lex.yy.c aoowl LEX e 2ol lsewd!l walo Lol
: olgizo ,Sws rename.bat powl La> 29> walo ol lid J=a) g bsd slow VI

ren lex.yy.c expl2.c
ren expy2.tab.c expy2.c
ren expy2.tab.h expy2.h

9 expy2.tab.c g lex.yy.c wlalol! cloowl usi) rename.bat sedl calodl (sde LS Jugs
il (sde expy2.h g expy2.c g expl2.c sJ] expy2.tab.h

doyaall 35l wlale Wiz Lild expy2.y ol expl2.] waloll oy o e b0 JS 8 g 13
9 BISON_2.bat ¢ FLEX_ 2.bat 0o JS i = 9 (expy2.h g expy2.c g expl2.c)
.rename.bat

=59 TURBO C 4.5 Jlasiwl lagozis ,uw)ll 9 silSeadl pungw 598 (sle Wsa> s
oo S Jew W JS ¥ TC aud wuxiv S9 D:\TC\BIN\TC.EXE zwl,Jl Jlosiwl
poi Sl eVl s a8 wsSly compile.bat oowl 1a> (swds walo ésuinl oloVl Hlaw

158l

D:\TC\BIN\TC.EXE D:\Lex_Yacc\exemples\expy2.c /b
pause

pawl Sl wlo e J.m 9 >5SJl ao>,i puiw g9 compile.bat walodl s
L V o ledo— yas> wlo wasl ldoe s Sy S 9 ilpadl gl )l gdg9 EXPY2.EXE
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Jo=xd input.txt owl -D:\Lex_Yacc\exemples sdxoll Sgiwo sde Joi (sdiw 9
Mo, Lol 150 il wldesl Lass adl waidd g MLl

5+5=
10%55=
342/2=
-5+(11*8)-16=

rasill 048 (sle Juazsiw 9 EXPY2.EXE syazl Lol OV dss

e+ D:\Lex_Yacc\exemples\EXPY 2. EXE

&odl V cesan 13d ul aaxss V| input.txt walel] (s 839>90)l Gllesdl JS Ol o6 28
@S e OV sl 38 Lg,Jl UeSs Ol wow o Lol psiedl dxo,u dglas Jgl 0ipd @
-5a0ll aclgall 8o (89lg V 5,5VU ol asbls adoac wuSi ,laclad OV Jio Josiow

rowad input.txt wlodl jue assidl s,

5+5=

10*55=
3+212=
-5++(11*8)-16=

réceiid] 048 (sle Juaseiow EXPY2.EXE uai s, Uasdl ool wdasV aa) sl

ev D:\Lex_Yacc\exemples\EXPY 2. EXE

=18
=h58
=7

parse erronr
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59, 9 sazoll Uazdb @lw, Lo, WS Syw >V L) Lol 8 Uasdl i ki o
Al el o] Uazdl aud g9g Sl Lol

hulg,)l 038 a1 pazsow! Jledl 1is (sde Seizw sl exemples sdsoll Juosd
http://www.4shared.com/file/227983170/36d8f872/exemplesl.html

http://www.mediafire.com/?ggnigohtmyz

http://www.snapdrive.net/files/618263/CompilerLesson/exemplesl.zip
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p>yinll Axoy .3
i o il a2l 98 03355 wm Lo Jol Lasioll dxoy 1w s oo

lue) e JlnSg ,Algorithmes JI &,US) Josicwodl o=l uuss

al gorithne alg
ent i er resultat,a;
debut
ecrire"Entrera=";
lirea;

resultat<-5;
a<-resultat*10 ;
ecrirel"a="a;
lirea;

fin.

Lz Winwe , 1> s (58 adlsall alazdl ST oSl 0> b csisy @il Baw (1) 5o,
Bsl,9 9 LS g sbow| hsd ,olal> (sde Sgixi V saya=l

clz a=ll oia ,Compilateur d’algorithmes J |,Laizl compalg o> i0ldl 138 swowuow
LodS o u2iw 9 grammaire JI lig ol g sass ol aclgall dcgaxo ol grammaire (sl
132> 6acls aslo| L,

prog -> ALGO IDENT declaration debut
declaration -> £ | decl_type ident POINT_VER declaration
decl_type -> DEC_ENTIER | DEC_REEL | DEC_CARA | DEC_CHAINE
ident -> IDENT | IDENT VER ident
debut -> DEBUT command_seq
command_seq -> £
| command_seq FIN POINT
| affect POINT_VER command_seq
| READ read POINT_VER command_seq
| WRITE write POINT_VER command_seq
Affect -> IDENT AFFECT fexpr | IDENT AFFECT sexpr
read -> IDENT | IDENT VER read
write -> writed_expr | writed_expr VER write
writed_expr -> NEW_LINE | fexpr | sexpr
fexpr -> REEL
|ENTIER
|IDENT
|fexpr PLUS fexpr
|fexpr MOIN fexpr
|fexpr MULT fexpr

22



e oo et

|fexpr DIVS fexpr

|MOIN fexpr

|fexpr PUIS fexpr

|PARG fexpr PARD
sexpr -> CHAINE | CARA

oW Ll (sl tokens Jl s 8,801 Wg,5dU 90l e Ml (i (£) 5ol Ol ,S 55
.(symboles terminaux)asls s90, a Ui L'analyseur lexicale ol

Jlodl (09 bloixiwl il wlaloll aio Wix>lg Di\Lex_Yacc\exemples sd=oll sJ| ac
Sl oy Jiow Sl seSUl @S 1o g 8,500l pusdl ,alll &S, (sde Tousd g (gLl

%{

#include<stdlib.h>

#include<string.h>

#include<math.h>
#include"d:\lex_yacc\exemples\compalg.h”
int line=1;

%}

Sl g a2 loud BISON oxJgw Sl g compalg.h wloll , slSoll i o JS & liiow
Say oo Sl W Sluudl Jioy line usiodl a0\l tokens Jl e zusaildl (S
Gyed Ad 9 Jhw IS @lp xe Fuosd oo Asiw 9 diw tokens JI ghziwl 9 ald=s
2woly b Uas Loslo 13] Lisdgo

ro9awd9SIl o tokens JI ghssowV aos Ml llgall OV G ,ei

blanc  [\t]+

nbr [0-9]+
entier {nbr}

reel {entier}\.{nbr}
ident  [a-zA-Z_]([0-9a-zA-Z_])*
a [aA]

b [bB]

c [cC]

d [dD]

e [eE]

f [fF]

g [9C]

h [hH]

i [il]

j (9]

k [KK]
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[ [IL]

m [mM]
n [NN]
0 [00]
p [pP]
q [aQ]
r [rR]

s [sS]
t[tT]

u [uyU]
v W]
w [wW]
X [XX]
y [yY]
z [zZ]

83>y 8,0 9 (sl 1 oo slacVl JS Jiou Nbr Mo ,lpwss i aludl lgadl ol asscel
Il s Gl cswosss 14522 Mo il oSl 38T ol J5VI (sl

Wio nbr.nbr oe 8,k @l 3 Mds walizd reel L)l bl ,nbr awwes ¢ entier Jlal
Dl s coss o wil il slacVl oo e 9 12.11

Wo,=dl axl e 8,k auly wsSid -y 10 of X Jio— wlusiell Jiow il ident Jlall
ali pi , [AZAZ_] w> 1in 5 () o=l ol [A-Z] ol [a-Z]dleoll (] csoiis il
oo il cadl () of [0-9] ol [A-Z] sl [a-Z] oo wsSH sl Doyl oo 5,31 dcgao
([0-9a-ZA-Z_1)* o 138 Usa> g UgSu V ol weSu Ol Sy usioll

Lplio Lasd s 8,uS)l QBg,mdl UsSH (s> bnad alilosiow! 189 Z (] @ oo gl dudy Lol
Wio 6,20l g 8,0l Bo =l o Brai V sl JSawl @alS lolod ;8 2l Wg,=dl Jio
Aol a usSy Ul Sew @ LIl

ceed ] ceazg 13] JSLadl o sl aclgsll wayysi 98 o (bl ezl (] Jai

%%

e return(CARA);

)+ return(CHAINE);
{a{I{gHoHrHiHt{hH{m}Ke} return(ALGO);

{d{eKbHuKt} return(DEBUT);

{fHi{n} return(FIN);

{eKnKtH{iKeHr} return(DEC_ENTIER);
{r{eKeXl} return(DEC_REEL);
{cHaKrHaHcH{t{eH{r{e} return(DEC_CARA);
{cH{hH{aHiK{nKe} return(DEC_CHAINE);

{I{iY{rH{e} return(READ);
{eHcHrHiKrKe} return(WRITE);
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" return(NEW_LINE);

\. return(POINT);

; return(POINT_VER);

, return(VER);

\n {line++;}

"< return(AFFECT);
" return(PARG);
" return(PARD);
R return(PLUS);
return(MOIN);
il return(MULT);
A return(DIVS);
A return(PUIS);
{ident} return(IDENT);
{reel} return(REEL);

{entier} return(ENTIER);
{blanc}

%%

9 laubs lcompalg.! powl aazdl wlodl U3 5wl oy lugsl WV, Lpsblud >l o)
ool lua> Leds lale wol lad ¢ ,Di\Lex_Yacc\exemples slxoll JIs losls

: 50Vl @ S| ¢ FLEX_2.bat
FLEX Icompalg.|

S lex.yy.c wloll (sle Jass FLEX 2.bat csle LIS Jgs

cudl ,L'analyseur syntaxique o ,w,Wl g89 zwl,l oo ol wwadl cbo (ol Jau
+ ST 9 8,Saoll

%{

#include<conio.h>

#include<math.h>

#include "d:\lex_yacc\exemples\lcompalg.c"
int errors=0;

%}

sy 9p9 lcompalg.c walol) il bl wilSodl dls oo Jlgs sl glizeiow ,slizalls
elasVl sac Ol errors jusgioll Josiww ,~li>V oo puiow— lex.yy.c waloll
rolay el o 1o s U5 ae Algorithm JI (S Sl ol (59 859>g.0J

| %token IDENT

25



e oo et

%token ENTIER

%token REEL

%token CHAINE

%token CARA

%token ALGO DEBUT FIN POINT POINT_VER VER

%token DEC_ENTIER DEC_REEL DEC_CARA DEC_CHAINE
%token AFFECT READ WRITE REEL PARG PARD

%token PLUS MOIN MULT DIVS PUIS NEW_LINE

%left PLUS MOIN
%left MULT DIVS
%right PUIS
%left NEG
%start prog

Lo, e &l Hohw &LVl (9 ,a0;,MI tokens JI oe zuraidl Lnd (s3JoVl johnw gl (s
2500l U, MVl anis Jios sl daclall aud sVl Hhudl | édwbus ddac JS auglel

:aall 01 58 asuioll aclgd)l oy puraill wd aJll glas!

%%
prog:ALGO IDENT declaration debut
declaration:

|decl_type ident POINT_VER declaration

decl_type:DEC_ENTIER
|IDEC_REEL
IDEC_CARA
|DEC_CHAINE

ident:IDENT
[IDENT VER ident

debut:DEBUT command_seq
command_seq:
[command_seq FIN POINT
|affect POINT_VER command_seq
|[READ read POINT_VER command_s eq
|[WRITE write POINT_VER command_s eq

affect: IDENT AFFECT fexpr
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| IDENT AFFECT sexpr

read:IDENT
[IDENT VER read
write:writed_expr
|writed_expr VER write

writed_expr:NEW_LINE
|fexpr
|sexpr

fexpr:REEL
[ENTIER
[IDENT
|fexpr PLUS fexpr
|fexpr MOIN fexpr
|fexpr MULT fexpr
|fexpr DIVS fexpr
IMOIN fexpr %prec NEG
|fexpr PUIS fexpr
|PARG fexpr PARD

sexpr:CHAINE
|CARA

%%

wde Lsasl siJl grammaire Jl acwss 98 (goludl 56801 Ld loyw boss g8 o=
oo 98 Y BISON (sle pelll (31 S ool V ,Mls e alSw ol V] llw dlasiwl
. grammaire U JS_adl [hs 2y

oWl g 5l 5] saa o W WY liag Les actions sémantiques  Josiows o)
lsl JSJ ,bnas L'analyseur syntaxique g L'analyseur lexicale of laas

I S hoadl (28 byue g @iyl @l oo zusaill s oMl 365Ul o adll asehsll
18,Sandl (sl 5981 13 sl ,w, Wl oy wlo oo

int yyerror (char *s)

{

errors++;
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printf("Erreur :syntaxe erreur: ligne %d\n",line )i

}
int yywrap(){return 1;}
main(int argc,char *argv[])
{
clrscr();

if((yyin=fopen("d:\\lex_yacc\\exemples\\test.alg"," r")==NULL)
{
printf("test.alg not found \n");
getch();

return;

}
yyparse();

if(lerrors) printf("Ok");
getch();

return;

}

¢ budl Jiodl e ol b

Jazdl dlw, o uo,w Lag yyerror() @l cleaiwl Wl ogar o Uas £g89 sic
28 g lcompalg.c waloll (58 B0 susioll [ing line 08,1 95 ¢ Unzdl aud g9 Sl ol
errors ol &oud o 2y Uas JS £999 dic g ,lcompalg.] 8 ade b> o

sl test.alg waloll zuss Lpud pgaid main() alul bl ,d WS sas yywrap() alol
wwlS 13] Ok adluw,Jl yoyeiw wloll Jud=i a9 ,ae>,5 3y SAl Algorithme JI So=y
all ay9lus errors jusiodl aoud

ool o> Leds lale wanl 9 compalgy powl wle 9 (aludl 3¢Sl U3 OV
oV 1is aud wsST 9 BISON_2.bat
BISON -d compalg.y

J48 ,compalg.tab.h ¢ compalg.tab.c , il Gesdo (sde Jua=d BISON_2.bat waloll ies
g lex.yy.c wlalodl cloowl ,usiw BISON o LEX Wb oo agoall 36S)l a6 O
il sde compalg.h ¢ compalg.c ¢ Icompalg.c _sJ| compalg.tab.h g compalg.tab.c

+olgVl 048 Jlosiowl 1idg — 833zl slocwVl () Bg,i basd I5led JLus V —

ren lex.yy.c lcompalg.c
ren compalg.tab.c compalg.c
ren compalg.tab.h compalg.h
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s disi g Lwos ,olgl asge puss o) Biwas 1y lodicg DOS olgl (sd @iluwdl yolsVl
ool 9 ade LIS Lo ,aaludl HolgVl aud wiSs 9 rename.bat powl (swds walo wanas
oVl

o compile.bat powl sed> o ol sl 363l dom i ddas) awidl sesaid] Guss
oVl s a8 S|
D:\TC\BIN\TC.EXE D:\Lex_Yacc\exemples\compalg.c /b
pause
568l @05 9 TURBO C4++ zud 0,51 LS ,oloVl Jhw Jlosicwl C 365 dos,u Lod )
oVl Lspislg compile.bat (sde LS Jugs ,aas bl el

9 ,COMPALG.EXE g89 lpdl gl dl (sde Jaxiw compile.bat wloll juei sy 03]
lis b o peioll GMsaeS test.alg walodl Jlasiwl Lod w, Wl wavy &S <Ll

Dl
/...

if((yyin=fopen("d:\\lex_yacc\\exemples\\test.alg"," r)==NULL)
/...

sl Algorithme JI yor awd wisS| g test.alg powl wale (suisl pmpioll uais Jud o s
3¢Sl 98 1Adg ,Ao> 0 Sy =0

al gorithne alg
ent i er resultat,a;
debut
ecrire"Entrera=",
lirea;

resultat<-5;
a<-resultat*10 ;
ecrirel"a="a;
lirea;

fin.

sl il @ 04D o> ll Laxai (si> COMPALG.EXE o> 0l guwoby das ells sy

ev D:VLex_Yacclexemples\COMPALG. EXE
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U g Wl oy bl saxoll aclgall (glho @l a>g g 65 Laxan p>,uell o6 28
¢ owan ol il jue Wio ,esbls Algorithme &S o,z ,(0K) &lw, uo,e

al gorithne alg
ent i er resultat,a;
debut
ecrire"Entrera=",
lirea,

resultat<-5;
a<-resultat*10 ;
ecrirel"a="a;
lirea;

fin.

UeSiw llw Lsas> sl aelll aclgd go (g V lid Ol by g ,a8ls| alold Jla
O |

ev D:\Lex_Yacc\exemples\COMPALG. EXE

Erreur :syntaxe erreur: ligne &

(U bl (sl aoiss LlSe) wumee ... 11 Unsdl aud g8g Sl Hlaadly 1! Unsdl oS as)

¢ L'analyseur lexicale Joc lowo oe la> dxoly 6,59 cba) cogSs a8 @l aSgell oo
.(Scanner & Parser) L'analyseur syntaxique
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Jal=il adac ol L'analyseur sémantique aso, wsdg Vi, aJlll al>yall (] WV Jiiis
» ol -test.alg ol Sgixo - aio> i slhedl Algorithme JI jus |, Sgisoll

al gorit hne alg
enti er resultat,a;
reel r
caracterec;
chai nes,r;
debut
ecrire"Entrera=";
lirea;

lirer,

c<-"a";
s<-"chaine s";
c<-S;

c<-"hhhh";
resultat<-5;
a<-resultat*10 ;
ecrirel"a="a;
a<-r;

a<-0.5;

x<-150;

lirea;

fin.

2ol 08 wiSs bowd 9 530 hisd =8 L) (sizo V lab ,olowdsill § wlsypaill jas Lol
C30S)l (8L (09 slasl a>g b ol b

W20 I uaiodl 5laudl s Wio ,(Des erreurs sémantiques) dgiso slasl Jla J>i
£9 i seio ] @b, aldaw Sliww] LSy V 13 5 12 sl wsd o reel ail e lipuuo
899 Lo pin (89 dudni> doowd gog LiSow V 17 ¢ 16 Ll sd Lol caractere
W 1> sl 108 U8 on s 2pa o) Wl go X puioll o sliawl Lad 3] 18 bl
2olodl Joi o testalg wlodl 0z elasVl 0id oo St gduiwg Vool

L'analyseur sémantique o5 il La ,clasl 3> V 1ol Jgéuw g COMPALG.EXE

9 whugioll JS lpud Usziow o0l Jsa> ol la table des symboles sl Lule o La
xoll J3Is SYMB_TABH bl na> wle wol ,leg o lLoud | leclgl
oM 56Ul &S, Taw) ¢ axidl ¢ Di\Lex_Yacc\exemples
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a5l ase LS aa) § YACC ¢ LEX Jlosiwl @uans) JoVI Jliodl oo yylval el 5S35 o
doud 00 g Wl buxo lad, Mio a>g [3] LEX ol 3] YACC ¢ LEX ow Joog adl>
Jios sl 89,2l @loadwd] 50,05 (sl 2liseiow Ld oz token JI go YACC U yusiodl s

o> 9 LEX W oo Joladl 9 whusioll aold (59 Ly oo oSoi (s> usioll
Ll 138 (08 1uass o ol sl sl

{ident} return(IDENT);

e s pgioll jyoiw IDENT (sd o ol Jios il token JI V| YACC U ,,00 V
d Sl WlSol Lo V ! char[] ouws int aces o) 5 yyival semxsoll psiodl oo,

.acg;

9 98 J=JI ,elgl 8ac YACC U 5 poimw =9 opue ol char (sJl int oo yylval g9 s o)
B,a)l SJg struct JU dpui wsnpd Lo, S5 o) 15] o ,lpd,e5 il ST ,union plazewl
sunion Jl 0ia bV Mo ,8,S13l oo @sluodl Guss Jewws union JI wligSe ol (88 oo

t ypedef uni on{
char Tstr[128];
int Tint;

f | oat Tfloat;

} new_type;

new_type t;

OV geaiw t.TStr doud 0ld t.Tint J aoud Lasowl eUsd asu 05 t.Tstr J @oud sbowl Les 13
iin S| o @Ml 8,51l sdg ppd 8553ll 8,513l (b weS, Ly Ml Ol usioll
wb128 J a9liuo o Ld g

9 ghaoll 1is aJ| ol g compalg.y walell zusl Segl Us (sl cswoiio Yylval Jseso S
s oaaod] Ul

%{

#include<conio.h>

#include<math.h>

#include "d:\lex_yacc\exemples\lcompalg.c”
%}

%union{

char Tstr[128];

int  Tint;

float Tfloat;

}
%token IDENT
...

Lo alhasl g alodl glel ;5901 (50 izl 98 Jlaoll £52)] e
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ol usioll powl e Ol W i axbizs Sl ggill (sl yylval gg5 Uyue 18 0gSs ligug
:lcompalg.l wlodl Sgiwo (sle |idg 0La>g LodS YACC

/...
At return(PUIS);
{ident} {
strcpy(yylval. Tstr,yytext);
return(IDENT);
}
{reel} return(REEL);
/...

YACC sJ| sustinl] @oud om0 Led YACC (sJ| token JSoiw sde IDENT suss Ol Jud g wd)
i)l (88 o gl JS aoud ol lw LW b Jyylval. Tstr (o8 Loz 3D o
adlgall dglazdl (| Jssads lcompalg.] slel o baasl yytext somsoll

I usiodl g Wi S Wil e puraill HLS5 98 ¢ JoVI Sgirall Unzdl @sdleoy Towiow
15981 138 adlol fauid 9 SYMB_TAB.H walol zusl , ludl Jiodl (9

#include<stdlib.h>
#include<stdio.h>
#include<string.h>

typedef struct sym_node_

{

char name[56];
struct sym_node *next;
}sym_node;

sym_node *sym_table=NULL,;

Lo g 69l s o @S, ;e 9 ol powl o @gSiall sym_node @S sl L e
o by s am usiol]l powl bsd log W ,obusiell (o @Suolus aosld slas| Us,l
£S5 oo @S, ,bge d 9 ld whusioll Joa> Jios sl aoslall sdg sym_table
LoJ 398J1 &Us s 15bo Jpmo S glg C @zl dxo,ul wlowlwl oo 1ia ledb ,sym_node

oS 3 9 Las s

il Lol Jaosla)l (88 La> jusio wui wsallg put_sym ,J\J_cf\JI yoadly aniw ,Josid
sazeoll il oz sl @S, i) ubge Lol dusiw sl gussiiws Lpoaw! o9 get_sym
18 o0 ko sa€ suiall OIS 15| NULL spsiew sl iobly JSio sle
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sym_node *put_sym(char *sym_name)
{
sym_node *ptr;
ptr=(sym_node*)malloc(sizeof(sym_node));
strcpy(ptr->name,sym_name);
ptr->next=(sym_node*)sym_table;
sym_table=ptr;

return ptr;

}

sym_node *get_sym(char *sym_name)

{

sym_node *ptr;

for(ptr=sym_table;ptr'=NULL;ptr=(sym_node*)ptr->ne xt)

if(!strcmp(ptr->name,sym_name))return ptr;
return NULL;

}

oy wlo sJ| asidg SYMB_TAB.H waloll ol bhasl o (slel Salosiws wuS ,auoly 558
slgSVI Lass @dlol 1oy axasl ,compalg.y uw, W

%{

#include<conio.h>

#include<math.h>

#include "d:\lex_yacc\exemples\lcompalg.c”

#include "d:\lex_yacc\exemples\SYMB_TAB.H"
int errors=0;

void setup_sym(char* sym_name)

{
sym_node *sym;
sym=get_sym(sym_name);
if(sym==NULL) put_sym(sym_name);
else
{

errors++;
printf("Erreur: %s est deja definie : ligne
%d.\n",sym_name,line);}

}
int sym_check(char* sym_name)
{
if(get_sym(sym_name)==NULL)
{
errors++;
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printf("Erreur: %s est inconnu : ligne %d.\n",sy m_name,line);
return O;

}

return 1;
}
%}
/...

JlgJl Jlosiiwl 138 9 wliueioll Jgas> J3Is jusin s pgss setup_sym allul | alos
lua> Lusio o ol L8 ,d:\lex_yacc\exemples\SYMB_TAB.H aloll J>I> qs)stI
get_sym alloJl éslel 13] ,get_sym alll aawle Jud oo Blay o) il oo 1S Ol e
&89 sl Sl 59 9 8 o Byme psiall Ul s las Wl ore Wl NULL ,ue dosd
9 Sl oy Jox il lcompalg.l wlodl J3Is Jud oo old,c line juszioll ,lUnz)
get_sym alul wslel 15] Lol ,LEX W@,b 0 Mgall Icompalg.c calodl (sd &,20 9 sJWJL

LoMudly 3ozl jueioll wui Lild NULL aousll

o iohb JSown wsde L) (sdasoll pziodl Ol aSUi) lpucaswsd sym_check allol Lol
o 13 ,du8 oo by 2ran wé Olusio Jlagiow! wizd 138 o ,0busioll @a5ls (s liwwo
Uos &b, pose Wils Jd oo linio sussiadl oSy

0id sV 568Ul Jud= sl Lugio Lasg lodS Luesiws ,Jlgadl cscaints ool S piw OV
:compalg.y wlodl (e ooV

/...
%token <Tstr> IDENT
/...

$x al sl ,Tstr csdg , IDENT wlusioll Lolzdl token JI go wsiliow sl @ousll g5 Lo
: Joloi ,8u9,> aldow oc 8,le token U aaslgoll

/...
declaration:
|decl_type ident POINT_VER declaration

/...
ident:IDENT {setup_sym($1);}
[IDENT VER ident  {setup_sym($1);}

/...

yObasiodl e uraidl JSow lpy sa il @ declaration -> ... daclall Uld Uy S
Ol e Jld ol e puraill @lole gouo s gl o bl Lubass ident Luals
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> 9 9 whiuiodl Jga> 09 jusiodl vy pgdi sadl setup_sym() &l csexiwws

bga=o UgSiw LEX oo polall il pow| b Lo,eiw il puss o pupadl LS5
.BISON U auwidb $1 9 9 LEX U auwudl, yylval. Tstr (a9

OJ_C[BJS&B'D!/ . LngOQ" ||9iLBJﬁ*-9>LH”1J-*-9U|MIUDK_9u‘JI UyI@M
oo azl) sym_check() allal sleaswl pogis (IDENT) ,usioll duolzll token JI Lpad oz

138 i ol x>V | usioll

/...
affect:IDENT AFFECT fexpr {sym_check($1);}
[IDENT AFFECT sexpr {sym_check($1);}

read: IDENT {sym_check($1);}
| IDENT VER read {sym_check($1);}

fexpr:REEL
|ENTIER
| IDENT {sym_check($1);}
[fexpr PLUS fexpr
|fexpr MOIN fexpr
|fexpr MULT fexpr
|fexpr DIVS fexpr
IMOIN fexpr %prec NEG
|fexpr PUIS fexpr
|PARG fexpr PARD

...

leilaclh, sym_check aludl Vs (scaiws des actions sémantiques baol ,awoly 5oVl
Liohbb JSew (sde sl ool

9 compalg.c) aoyasll wlaloll Bisl Lloc = ) compalg.y wloll Sgixo U
a9l wlaloll Jugiin 138 9 izl p>juedl 595 adoi 08 9 (Icompalg.c 9 compalg.h
ooyl e JaxiJ compile.bat o5 rename.bat o5 FLEX_2.bat i BISON_2.bat

P a0l Adei adoss adosl 018 Lsouiow ,silpdl COMPALG.EXE
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ol Sgiwo (sle 839>g0)l slasVl @S, 9 Jl=d COMPALG.EXE po>yioll Jouw
:slas VI alwl,) 8,9.0 01 g test.alg

o D:\Lex_Yacclexemples\COMPALG. EXE

»: p» est deja definie : ligne 5.
»: x est inconnu : ligne 19.

o curaidl LLSn ousleiedl Algorithme JI (8 cosoldl culbzdl waass! as) >l

8 o lic zuraidl o o) Whiagio Jlosiwl 9 wlusioll
sliow| ol pumo usio) @ds> doud sbow] @y slasVl s e wasSs ol W e
iSiw oS ¢ @gieall clasVl o auiell Jld ST char £g5 (o usiod &8> alwlw

calodl 2ud| ,olugiod] Joaz du o usiw Wld laclad WV oo logy whusioll 95 Ol Loy
tesd] ol Jiod (sl @S il jué9 SYMB_TAB.H

#include<stdlib.h>
#include<stdio.h>
#include<string.h>
#define _int 1
#define _float 2
#define _str 3
#define _chr 4
typedef struct sym_node
{
char name[56];

int type;

struct sym_node *next;
}sym_node;

...

9 wsixizdl 9 pumall ggill uo JS Jios chr_ g str_ g float_ o int_ culgs gl Usas
wﬂ usyu 31 Jas> adlol lod oS ,oslsdl csde sausgll Bgymdl § gyl JowMw
ol g5 Jiow Sl g type 98 9 jusiell Glogleo Joxi
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eveai) Joasdl (88 sl cois sl put_sym @lul sd Lol s

/...

sym_node *put_sym(char *sym_name, int sym_type)
{
sym_node *ptr;
ptr=(sym_node*)malloc(sizeof(sym_node));
strcpy(ptr->name,sym_name);
ptr->type=sym_type,
ptr->next=(sym_node*)sym_table;
sym_table=ptr;

return ptr;

}
1.

raiaw laclad OVl o docwl (] @lo] Huioll £95 Uisiw Wl o 4 Lod o ausly
rood 9 azeodl 2ioll £o5 W s d3ua> als Lyl

int get_sym_type(char *sym_name)

{

sym_node *ptr;

for(ptr=sym_table;ptr'=NULL;ptr=(sym_node*)ptr->ne xt)
if(!strcmp(ptr->name,sym_name)) return ptr->type;

return O;

}

.compalg.y caloll sJ| Jax) 9 SYMB_TAB.H walol slel 9wy

esi gl Liasl 5] SYMB_TAB.H loll (59 835>g0ll put_sym allal 58 Uype Wil Loy
:awas) compalg.y (s 839>gall setup_sym alal sd suill e @l ol

/...

void setup_sym(char* sym_name, int type)
{
sym_node *sym;

sym=get_sym(sym_name);

if(sym==NULL) put_sym(sym_name, type);

else

{errors++;printf("Erreur: %s est deja definie : li gne
%d.\n",sym_name,line);}

}
/...
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wwyusw&wlygaswguyu@oi%#{?w@@,mm
U3 current_type wi> useio wwaiow Slewl wldec <l,>] Wl gl g8lgi o (ga=ill
rOhuiodl ey )3l g5 Lidgo aud

/...
int errors=0;
int current_type;
/...
:setup_sym allol) wlsleawl JS 59 jueilg
/...
declaration:
|decl_type ident POINT_VER declaration

/...
ident:IDENT {setup_sym($1, current_t ype);}

[IDENT VER ident  {setup_sym($1, current_t ype);}
/...

JS 9 current_type @oud coaxi lude ww oS) 0wl 8o usioll £95 Ui Lol 13
daclall 048 Sgiwn sde iy 13D 01> 95 e auaill o b0

/...

decl_type:DEC_ENTIER {current_type = _int;}
IDEC_REEL {current_type = _float;}
|IDEC_CARA {current_type = _chr;}
|DEC_CHAINE {current_type = _str;}

/...

daclal 038 Sgins (sle i 13 9 sbewVb plall bl gVl o 2SI gubniws 13 as
SbowVU Loldl gl sass (sl

affect:IDENT AFFECT fexpr
[IDENT AFFECT sexpr

fexpr:REEL
|ENTIER
[IDENT
|fexpr PLUS fexpr
|fexpr MOIN fexpr
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|fexpr MULT fexpr

|fexpr DIVS fexpr

IMOIN fexpr %prec NEG
|fexpr PUIS fexpr
|PARG fexpr PARD

sexpr:CHAINE
|CARA

NECESTRER G VU N FPCIRPNR AT VETN EY
daclall odd Mio AU
affect . IDENT AFFECT fexpr

Vlg IDENT g5 8o (89lgin feXpr e95 Ol oo (séxil oz IDENT sJ| fexpr sbw] <Gl
Ohugioll Jga> oo acer (sle Jgasdl ganiws i g jugio 98 IDENT ,las &b, Lo,
oo e Jaasdl lule wud fexpr g9 ol awsdl Lol ,get_sym_type @lul Jlosiwl
ra Ul daclall
fexpr : REEL
| ENTIER
| IDENT

asll alsdl 9 [ fexpr sJl float_ ggul &>, fexpr -> reel ac i, sdoVl &zl (59
&o 89,0l juzinll gg5 Juss fexpr (oJl &> allll A=l 9 g fexpr (oJ| int_ &>,
int UeS, Ul wow lpcgs 13] gl doud fexpr Ol loug ..oclsall &é go JoSi 13Sa 9 IDENT

1598l (] a8l oigy SUS sa= g sexpr J anuwidU ssaid] sy SUaS o

/...

%union{

char Tstr[128];
int  Tint;

float Tfloat;

}
%type <Tint> fexpr
%type <Tint> sexpr
%token <Tstr> IDENT
/...
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ol 13> pgpanll 68Ul 1id adlol lidg sexpr o fexpr g9 iz ¢ OVl aless b Jol 13

‘Lodaclgd o JS

/...
writed_expr:NEW_LINE

[fexpr {
|sexpr {
fexpr:REEL
|ENTIER
[IDENT

* e Lo Jxas o9}
* e Lo J=as oJ ¥}

{$$=_float;}
{$$=_int;}
{
if(sym_check($1))
$$ = get_sym_type($1);

}
[fexpr PLUS fexpr {
if(($1 == _int) && ($3 == _int))
$$ = _int;
else
$$ = float;
}
|fexpr MOIN fexpr {
if(($1 == _int) && ($3 == _int))
$$ = _int;
else
$$ = _float;
}
|fexpr MULT fexpr {
if(($1 == _int) && ($3 == _int))
$$ = _int;
else
$$ = _float;
}
[fexpr DIVS fexpr {$$ = _float;}
IMOIN fexpr %prec NEG {$$=%$2}}
[fexpr PUIS fexpr {$$=%1;}
|IPARG fexpr PARD {$$=%2;}
sexpr:CHAINE {$$=_str;}
|CARA {$$=_chr;}
...
2 530Sl plazwl fexpr (J| float_ aousll wacl fexpr -> REEL dacla)l (s
$$=_float;
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o @l o abll a2y IDENT usioll g9 Guss lacl fexpr -> IDENT  éaclall (a8
fexpr _sJl whugiodl Jga> (o8 Lo

if(sym_check($1))
$$ = get_sym_type($1);

ulill fexpr oo JS oS 15] _int goldl auss Lold fexpr -> fexpr PLUS fexpr éaclall a9

:_int &9...” U0 Um.J| ,_5\1&2
if($1 == _int) && ($3 == _int))

$$ = _int;
else
$$ = float;

sexpr ¢ fexpr g9 o JS e Jsaxl lLehiwl OV aclgsll 8L JoSi [3Sag
reUs Jead ol usioll guyai e @oguundl daclall (58 lopolazewV

...
affect:IDENT AFFECT fexpr {
if(sym_check($1))
{
int sym_type = get_sym_type($1);
if((sym_type==_int) && ($3==_float))
{
printf("Erreur:imposible de converter (reel
a entier) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_str) && ($3==_float))
{
printf("Erreur:imposible de converter (reel
a chaine) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_chr) && ($3==_float))
{
printf("Erreur:imposible de converter (reel
a caractere) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_chr) && ($3==_str))
{
printf("Erreur:imposible de converter
(chaine a caractere) : ligne %d.\n" line);
errors++;

}
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}

}
|IDENT AFFECT sexpr {

if(sym_check($1))
{
int sym_type = get_sym_type($1);
if((sym_type==_chr) && ($3==_str))
{
printf("Erreur:imposible de converter
(chaine a caractere) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_int) && ($3==_str))
{
printf("Erreur:imposible de converter
(chaine a entier) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_float) && ($3==_str))
{
printf("Erreur:imposible de converter
(chaine areel) : ligne %d.\n",line);
errors++;
}
}
}

...

IDENT ju2ioll 59>9 oo Vol Las=s affect -> IDENT AFFECT fexpr saclall (o ,\io
U2 9 SYM_type puwl 1a> jusio o grai Idg>g90 OIS 13] ,(sym_check($1 plazswl
oo Bésdl aduac 1w eUs e ¢ get_sym_type @l plazucwl IDENT psioll £g5 aud
Lsls _float g& fexpr gg5 9 _int g& IDENT gg5 UIS I5] JLoS go,fexpr ¢ IDENT ggo5 (38lgs

il 1358 5 (e ] onisdi> o Juszill oSeu V) Jois Uas @l uose
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COMPALG.EXE sa=Jl p=>iodl zwly i85 9 wlw cwls LS posiodl adss OVl acl
raudl 0ds (sle Jaxsd

e+ D:\Lex_Yacclexemples\COMPALG. EXE

: r est deja definie : ligne 5.

timposible de converter {chaine a caractere? : ligne 12.
timposible de converter {chaine a caractere? : ligne 13.
timposible de converter (reel a entier? : ligne 17.

timpozible de converter (reel a entier? : ligne 18.
: x est inconnu : ligne 19.

>0 il OV (s8S) 1id 9 dgizoll slazsVl &) e i)l oo OVl liSes 18l
Génération du ) >s5JI 3Jgi sd &l al>,ell ,L'analyse sémantique sl Sgizoll Jul=ll
.(code
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568 g Ul Ld Joliw ,lpicw b go @)lio o leg @mo ddoc d ;305 ags
9 595J] adgi (89 @lan dis,b dousiw Lol 9 &Vl a2 (| )8Vl gag bad assembleur
wilSe Sl oo Jlgs Sl 5,60 ) WiV (édition de liens) linking i weSy )

Mo LV 1is ¢ Assembleur 32 bit J| zlizs ) ,kaad Assembleur 16 bit JI go Jolsiiw
oJ o (les interruptions) wleblio)l (sle s soies Ol @ Jglxiw g Ld slpil 95Ul
JSow bl (sde UgSy Ol wsw 3981 Wl 3] les appels systéme gl 838l gl go Jols
hello world @le=d| dcldas pga assembleur >o8) Jlio 1is &Vl agel (oJ| JSoi w8l o

ol e

MODEL small
.stack  100h
.data
msg
.code
start:
mov
mov
mov
mov
int

0 W0 | B WY

mov
int
N
mov
int
end start

db " Hello, World!",13,10,"$"

ax, @data

ds,ax

dx, offset

ah,9
21h
s> & el

ax,0C07h
21h

ax, 4C00h
21h

msg

Ol o]l i ppyriw I dxbLill

o glide hiw pio ol dl 5 LaISY|

s oSl & ppai) Mo WinAsm Studio S Assembleur i Josiow! aiosyi ws)l 13]

wosdio groall sl Jul8 o) o £ Mb] (sle weSs Ul
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5930l &S o LiSes el Jlgall ya=y aud uSi) CODE_GENH ouwl > wlo csuisl
*.asm g9 o o 9 Wgoll

#include<stdio.h>

char data_section[1024]; I &l ya5 ) pud
char code_section[8192]; Il 5es31 aus
FILE *fcode;
I a5 58Sl Joomaw il diladd jaa i
void Init_Code(char *file) I §esod wous Gdo s Lis] oo LiasE a1
pio A N el s U
{

fcode = fopen(file, "wb");
strcpy(data_section, ");
strcpy(code_section, ™);

}

void Add_Data(char *data) Il e yas islo|

{

strcat(data_section, data);

}

void Add_Code(char *code) Il =5 isls)

{
}

strcat(code_section, code);

void Dispose_Code() I e 50 o adaxd!l aldly Gl Gdely pgds
S ¢ S|
{
fprintf(fcode, ".MODEL small\r\n.stack 100h\r\n.DAT A\r\n");
fprintf(fcode, "%s", data_section);
fprintf(fcode, ".CODE\r\nstart:\r\n");
fprintf(fcode, "mov ax,@data\r\n");
fprintf(fcode, "mov ds,ax\r\n");
fprintf(fcode, "%s", code_section);
fprintf(fcode, "end start\r\n");
fclose(fcode);

}

oleil Jha> g0 CODE_GEN.H waloll _slel
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:CODE_GEN.H waloJl Jlg> Jossiomiow Wil Loy sl ligy 1aus) 9 compalg.y walell zud] 13]

/...
#include "d:\lex_yacc\exemples\SYMB_TAB.H"
#include "d:\lex_yacc\exemples\CODE_GEN.H"
/...

i)l Il Sgiue sle 13 9 goll 595Ul aud iSicw il wlodl g lule oo

/...

main(int argc,char *argv[])
{
clrscr();

if((yyin=fopen("d:\\lex_yacc\\exemples\\test.alg"," r")==NULL)
{
printf("test.alg not found \n");
getch();

return;

}

Init_Code("d:\\lex_yacc\\exemples\\test.asm");
yyparse();

Dispose_Code();

if(lerrors) printf("Ok");

getch();

return;

}
...

,Soizoll ol @seo, sl Lgizo @sbls slgST aud LusS 28 LS test.alg walodl ;oS35 0l
réu,madl 56 WeS puseall 39Sl 1id aud ST g test.alg waloll (sJ] ac

al gorithne alg
ent i er resultat,a;
reel r,

car act er e car;
chai ne s;

debut
ecrire"Entrera=",
lirea;

lirer,

lires;

S<-S;
s<-"0123456789";
ecrire’c"
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car<-"a";
resultat<-5;
a<-resultat*10+5;
ecrirel"a="a;
lirea;

fin.

&l la>Wiw g test.alg dao>,0  pgin alexs 9 COMPALG.EXE o> ,ioll aJgi acl 0Vl
OVl sJl obadg o JS 0l lou 9 ,8e0dl 555 oz Sl TEST.ASM sa=l calodl W Jguw
r VS olgizeo UgSunud 368Ul wl, gd

.MODEL small

.stack 100h
.DATA
.CODE
start:
mov ax,@data
mov ds,ax
end start
568l &y i Jeolgid ,a5ledl (59 &lo 8,Sall ) vzl WV
ra Ul doclall = o S uld whusiodl (e puraill Al (o9
ident:IDENT {setup_sym($1, current_type);}
[IDENT VER ident {setup_sym($1, current_type);}

ST s 8,84l oS 9 a=dl JS s Wile Y leub ,al>0ll 038 JlaS| oo i Ul
Ol Jud wgrpdl ws,Dhsd 250l sl JoSi) 9 ba LSl lia sl 1ig) g S

JoSid o V(- ageo &l slsy
gsill go Jolailwd geozill agly dzorl b > e csidl Loy wbustiall e ausaill

ppill 8303 oo Joledl Jpaud Bgymdl o Boymdl JuwMaw lol umo @il (sde (sipi=l
ralg=iw 5o (sJlg pu il lis >V

entier a; a dw 6 dup(?)
reel r; ::> r dw 6 dup(?)
car act er e car; car db ?

chai ne s; s db 56 dup(‘)
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oaS 3], W Svgas Al S 9 guozidl ael) acuudl Jlodl gusaidl SlUS 0gsSy V08
rels Jead compalg.y ol oVl axis , =86 s oo Juodl 98 o Jod gudnis

/...

ident:IDENT {
setup_sym($1, current_type);
if((current_type == _int) ||

(current_type == _float))
{
Add_Data($1);
Add_Data("\tdw\t6 dup(?)\r\n");
}

else if(current_type == _chr)
{
Add_Data($1);
Add_Data("\tdb\t?\r\n");
}
else if(current_type == _str)
{
Add_Data($1);
Add_Data("\tdb\t56 dup(‘ )\r\n");
}

}
IDENT VER ident  {

setup_sym($1, current_type);

if((current_type == _int) ||
(current_type == _float))

{

Add_Data($1);

Add_Data("\tdw\t6 dup(?)\r\n");

}

else if(current_type == _chr)

{

Add_Data($1);

Add_Data("\tdb\t?\r\n");

}

else if(current_type == _str)

{

Add_Data($1);

Add_Data("\tdb\t56 dup(‘ )\r\n");

}

...
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TEST.ASM walodl W zuid COMPALG.EXE zwl,Jl Jous pi posiodl agi acl ,Juo>

r sJUl Sgizoll
.MODEL small
.stack 100h
.DATA
a dwé dup(?)
resultat dw 6 dup(?)
r dwé dup(?)
car d?
S dib6 dup(‘ 9)
.CODE
start:
mov ax,@data
mov ds,ax
end start

Jowl ol Ll Mg (s8UJl 0gSy Ul 3] ,Mpw OIS Wlhuzioll oo uaill

235 ol b o Jpwl 90w sV ecrire & lawew ecrire g lire o olsdl s6SUl s Tauid
15, ,int 21 agblial] paiaiew W auwlidl sle uosas

a4,9,> alanlaw <olS 15] 88,5 aladaw ol ,uio o] 4iohl JSuis csle a3l 18 ecrire allul
Mo Aalidl )] lpr2u 05 bl oo 00 Vsl lpic 2 o s

ecrire"Entrera=" ecrire’"c"
iy g

.DATA .CODE
_msg_1db "Entrera =","$"; mov d, "c"
.CODE mov ah,2
mov dx, offset  msg int 21h
mov ah,9
int 21h

Ol = CHAINE ol CARA ,Soil LEX &> losic ;0,89 ,0,me sl Jais ol Jud 1id cusid
:lcompalg.| wloll zusd] 1ig) 9 a8 =l aududl aoud logeo (39,0

...

strepy(yylval. Tstr,yytext);
return(CARA);
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}
)+ {
strepy(yylval. Tstr,yytext);
return(CHAINE);

...

GlS ¢ aic pusaill (| gliziw W &8,> alwlw oe 8,le ecrire &l Hiol,L OIS 13
> _msgX_ JSoadl e whusiodl o alwdudl el hasiow el Sole jasio
wziodl e zrad 9 CODE_GEN.H wlodl (oJ] 395 UM ,9 oJl 0 o X jueiow
9dg Strtemp wdgo jusio € Zaiow JiS g X aous) slac alio, wgSJ data_counter
glizeiw s w880 JSoin usbiall pasy ez lp=lizs 08 &,9,> dwdwd dge e 8)le
s Ulablay lagsV sliw] of ecrire (sl 8,5Vl andeill ilS 13] lo ad sazi susio sl

:sexpr g fexpr daclall juss

/...

#include<stdlib.h>
#define _WRITE 2
#define AFFECT 3

char data_section[1024];
char code_section[8192];
FILE *fcode;

int data_counter = 0;
char *strtemp;

int current_op;

/...
:_MSGX_ juiol) d2ua> @oud £l,l pgsi daua> alls Wy VI
...
char* GenStrident()
{
char *temp = (char*)malloc(sizeof(char)*8);
char string[3];

itoa(data_counter++, string, 10);
sprintf(temp, "_msg%s_", string);
return temp;

}
/..
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dacla)l (Jl o=l 9 compalg.y walell (oJ| a5 9 CODE_GEN.H waloll ha>l o (slel
recrire alJl JSeid sa=oll

/...

%token <Tstr> CHAINE

%token <Tstr> CARA

/...

write:writed_expr
|writed_expr VER write

writed_expr:NEW_LINE
[{current_op = _WRITE;}fexpr {}
[{current_op = _WRITE;}sexpr {3

/...

sexpr:CHAINE {
$$=_str;
if(current_op == _WRITE)
{
strtemp = GenStrident();
Add_Data(strtemp);
Add_Data("\tdb\t");
Add_Data($1);
Add_Data("\"$\"\r\n");
Add_Code("\r\n;ecrire ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("mov dx, offset ");
Add_Code(strtemp);
Add_Code("\r\n");
Add_Code("'mov ah, 9\r\n");
Add_Code("int 21h\r\n");

}

}
|ICARA {

$$=_chr;

if(current_op == _WRITE)
{

Add_Code("\r\n;ecrire ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("mov dl, ");
Add_Code($1 );
Add_Code("\r\n");
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Add_Code("mov ah, 2\r\n");
Add_Code("int 21h\r\n");

}

}

...

Jlo=iwlb WRITE_ ugSiow sl 9 aJUll andsill 95 Usa> writed_expr éaclall &lay o8
9 aUs e adll asudedl UgSiw (suo sams ol WVl wsw ,{;current_op = _WRITE}
Ui g affect -> ... daclal o sl v Jud pi 13d § AFFECT . UgSicw (sio izl

er_ Lo 9 gl o8 dacliuo 82cld rniow

/...
affect:_er IDENT AFFECT fexpr{
if(sym_check($2))
{
int sym_type = get_sym_type($2);
if((sym_type==_int) && ($4==_float))
{
printf("Erreur:imposible de converter (reel
a entier) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_str) && ($4==_float))
{
printf("Erreur:imposible de converter (reel
a chaine) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_chr) && ($4==_float))
{
printf("Erreur:imposible de converter (reel
a caractere) : ligne %d.\n",line);
errors++;
}
else if((sym_type==_chr) && ($4==_str))
{
printf("Erreur:imposible de converter
(chaine a caractere) : ligne %d.\n" line);
errors++;

}
}

}
|_er IDENT AFFECT sexpr{
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if(sym_check($2))

{

int sym_type = get_sym_type($2);
if((sym_type==_chr) && ($4==_str))
{

printf("Erreur:imposible de converter
(chaine a caractere) : ligne %d.\n" line);
errors++;
}
else if((sym_type==_int) && ($4==_str))
{

printf("Erreur:imposible de converter
(chaine a entier) : ligne %d.\n",line);
errors++;
}
else if((sym_type==_float) && ($4==_str))
{

printf("Erreur:imposible de converter
(chaine areel) : ligne %d.\n",line);
errors++;
}
}
}

_er:{current_op = _AFFECT;}

...

Laol Wl oy o ,bnad current_op juiol) AFFECT _ é@oudll clac| 9o _er saclall (o Wagll
$4 vy $3 9 $2 pueanw $1 0L affect a)lay 89 60> dacld

lisg @y TEST.ASM ilo clned ales o 3> o COMPALG.EXE o yioll adsi acl
10lgi=o

/...
_msg0_ db'Entrera=","$"
_msgl_ dba=""$"

.CODE

start:

mov ax,@data
mov ds,ax

:ecrire "Entrera ="
mov dx, offset _msg0__
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mov ah, 9
int 21h

.ecrire "c"

mov dl, "c"
mov ah, 2

int 21h

,ecrire "a ="

mov dx, offset _msgl
mov ah, 9

int 21h

end start

P il v Show oo ST poladl 5o )l diS olhusiell 2Ls] W sy 0>
ol @l Lo 9 _NEWLINE_ aoous) g coli g x> pusio ULl powd | wanid |, Jpawd
:CODE_GEN.H waloJl (59 13 5 wsilgsdl 39SJ1 (0 @uli aebd JSiw (sle asnaiow Ll

/...
void Dispose_Code()
{
fprintf(fcode, ".MODEL small\r\n.stack 100h\r\n.DA TA\N\N");
fprintf(fcode, " _NEWLINE_\tdb\t13,10,\"$\"\r\n");
fprintf(fcode, "%s", data_section);
fprintf(fcode, ".CODE\r\nstart:\r\n");
fprintf(fcode, "mov ax,@data\r\n");
fprintf(fcode, "mov ds,ax\r\n");
fprintf(fcode, "%s", code_section);
fprintf(fcode, "end start\r\n");
fclose(fcode);

}
1.

1S JoSd 9 compalg.y (sJ] é59c

/...
writed_expr:NEW_LINE {
Add_Code("mov dx, offset NEWLINE_\r\n");
Add_Code("mov ah, 9\r\n");
Add_Code("int 21h\r\n");
}
[{current_op = _WRITE;}Hexpr {}
[{current_op = _WRITE;}sexpr {}
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|//...

s Wopuu pu s 0l @d,> dAldw o w8,> ssiadl OB 13 ool dcwill
:dl of dx Jzewodl (58 pusioll Olgic g5 go 8,uile 21 asblaol Jlosiwl

/...

fexpr:REEL
[ENTIER
[IDENT

/...

{$$=_float;}
{$$=_int;}
{
if(sym_check($1))
{
$3$ = get_sym_type($1);
Add_Code("\r\n;ecrire ");
Add_Code($1);
Add_Code("\r\n");
if($$ == _str)
{

Add_Code("mov dx, offset ");

Add_Code($1);

Add_Code("\r\n");
Add_Code("add dx, 2\r\n");

Add_Code("'mov ah, 9\r\n");

Add_Code("int 21h\r\n");

}

else if($$ == _chr)

{

Add_Code("mov dl, ");

Add_Code($1);

Add_Code("\r\n");

Add_Code("'mov ah, 2\r\n");

Add_Code("int 21h\r\n");

}
}
}

cdsms Ll csle vl olusioll Jole of (sle Lass] 1s- pumo psiodl 0lS 13] bl
bl (sde buso Lugio uoymi il 565Ul oo dsbill 038 Joinwind

ten dw 10
zero equ O
N db 6 dup(0)

mov dx,0
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mov ax, 145 ; islill e daxsb auys il sl gl suasddl
mov cx,0
lea bx,N
nexto:
div ten
cmp ax,zero
jz ax0
jmp contO
axo:
cmp dx,0
jz endO
contO:
add dx,48
mov [bx],dx
inc cx
inc bx
mov dx,0
jmp nextO
endO:
dec bx
printO:
mov al,[bx]
dec bx
mov ah,0Eh
int 10h
loop print0

ol les étiquettes Las Ld Ll g N_ ¢ _ZFRO_ ¢ TEN_ s 5 @&l wlusio Jus
9 cwanw Next0 JuWIl Wi ,zuso sic gab duoc JS 0 wss Ul wsw sl Labels
1138 i) CODE_GEN.H walodl (3| sg5 ,13Sa ¢ nextl aoslall 6,0l

/...

int write_int_counter = 0; I gl o1 ue

/...

void Dispose_Code()

{

fprintf(fcode, ".MODEL small\r\n.stack 100h\r\n.DA TA\N\N");

fprintf(fcode, " _NEWLINE_\tdb\t13,10,\"$\"\r\n");
fprintf(fcode, " _TEN_\tdw\t10\r\n");
fprintf(fcode, "_ZERO_\tequ\tO\r\n");
fprintf(fcode, "_N_\tdb\t6 dup(0)\r\n");
fprintf(fcode, "%s", data_section);

fprintf(fcode, ".CODE\r\nstart:\r\n");
fprintf(fcode, "mov ax,@data\r\n");
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fprintf(fcode, "mov ds,ax\r\n");
fprintf(fcode, "%s", code_section);
fprintf(fcode, "end start\r\n");
fclose(fcode);

}

char* GenLabel(char *label) I asus Joy wWes a1 0 adl
{

char *temp = (char*)malloc(sizeof(char)*16);

char string[4];

itoa(write_int_counter, string, 10);
sprintf(temp, "%s%s", label, string);
return temp;

¥

void GenLabellncCounter()

{

write_int_counter++;

¥
...

radlodl cscaiws Wle next0 (sle Jgaxll b_sj 15] ,13]
GenLabel("next") ;

.GenLabelIncCounter &Il scaius nextl ol sJWl Sgiwoll (] Jisiid o

:compalg.y wloJl J| ac

/...
fexpr:REEL {$$=_float;}
|ENTIER {$$=_int;}
IDENT {
if(sym_check($1))
{

$$ = get_sym_type($1);
if(current_op == _WRITE)
{

Add_Code("\r\n;ecrire ");
Add_Code($1);
Add_Code("\r\n");

if($$ == _str)

{

Add_Code("mov dx, offset ");
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Add_Code($1);
Add_Code("\r\n");
Add_Code("mov ah, 9\r\n");
Add_Code("int 21h\r\n");

}

else if($$ == _chr)

{

Add_Code("'mov dl, );
Add_Code($1);
Add_Code("\r\n");
Add_Code("mov ah, 2\r\n");
Add_Code("int 21h\r\n");

}

else if(($$ == _float) || ($$ == _int))
{

Add_Code("mov dx,0\r\n");
Add_Code("mov ax,");
Add_Code($1);
Add_Code("\r\nmov cx,0\r\n");
Add_Code("lea bx,_N_\r\n");
Add_Code(GenLabel('next"));
Add_Code(":\r\n");
Add_Code("\tdiv _TEN_\r\n");
Add_Code("\tcmp ax, ZERO_\r\n");
Add_Code("\tjiz ");
Add_Code(GenLabel("ax"));
Add_Code("\r\n");
Add_Code("\tjmp ");
Add_Code(GenLabel("cont"));
Add_Code("\r\n");
Add_Code(GenLabel("ax"));
Add_Code(":\r'\n");
Add_Code("\tcmp dx,0\r\n");
Add_Code("\tjiz ");
Add_Code(GenLabel("end");
Add_Code("\r\n");
Add_Code(GenLabel("cont"));
Add_Code(":\r\n");
Add_Code("\tadd dx,48\r\n");
Add_Code("\tmov [bx],dx\r\n");
Add_Code("\tinc cx\r\n");
Add_Code("\tinc bx\r\n");
Add_Code("\tmov dx,0\r\n");
Add_Code("\tjmp ");
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Add_Code(GenLabel("next"));
Add_Code("\r\n");
Add_Code(GenLabel("end"));
Add_Code(":\r\n");
Add_Code("\tdec bx\r\n");
Add_Code(GenLabel("print"));
Add_Code(":\r\n");
Add_Code("\tmov al,[bx]\r\n");
Add_Code("\tdec bx\r\n");
Add_Code("\tmov ah,0Eh\r\n");
Add_Code("\tint 20h\r\n");
Add_Code("\tloop ");
Add_Code(GenLabel("print"));
Add_Code("\r\n");
GenLabellncCounter();

}
}
}

}
...

ol puzo sac L) 00 il Al b ¢ ecrire &l Lasw boud 6,3l dls s iy b
g fexpr ->REEL dacla)l Josmiwiw loub ,ecrire 114; Mo LiolLS 8)pilo sdus>
doudeil Hugi 8o doumall Olugioll &b 565 amss 929 395U dwidl bl ,fexpr: ENTIER
aoud J| lpdo= Wld as b=l anusl) awall Lol ,mov ax,$1 _sJ| mov ax, _var_name_
o) 308 L Josiwiow Wil by 5 oSS, Mo int i = (int)$1 ; Jlosiwl Vol asa>
WriteNum_Code aloJl 03 oS ,39S)l @sluod hlass! sauas alls Esuimiow Wl Gu,s
Lesdniw (sl @ousdl ol susioll powl iol,U JSoi (sde dsliw 9 CODE_GEN.H waloll (59

bV

/...

char strtemp1[12]; Il Gy 3 Judle had 4>lixiw abyo yiios
Lisso

/...

void WriteNum_Code(char *value)

{
Add_Code("'mov dx,0\r\n");
Add_Code("mov ax,");
Add_Code(value);
Add_Code("\r\nmov cx,0\r\n");
Add_Code("lea bx,_N_\r\n");
Add_Code(GenLabel("next"));
Add_Code(":\r\n");
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Add_Code("\tdiv _TEN_\r\n");
Add_Code("\tcmp ax,_ZERO_\r\n");
Add_Code("\tjz ");
Add_Code(GenLabel("ax"));
Add_Code("\r\n");
Add_Code("\tjimp ");
Add_Code(GenLabel("cont"));
Add_Code("\r\n");
Add_Code(GenLabel("ax"));
Add_Code(":\r\n");
Add_Code("\tcmp dx,0\r\n");
Add_Code("\tjz ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");
Add_Code(GenLabel("cont"));
Add_Code(":\n\n");
Add_Code("\tadd dx,48\r\n");
Add_Code("\tmov [bx],dx\r\n");
Add_Code("\tinc cx\r\n");
Add_Code("\tinc bx\r\n");
Add_Code("\tmov dx,0\r\n");
Add_Code("\tjmp ");
Add_Code(GenLabel("next"));
Add_Code("\r\n");
Add_Code(GenLabel("end"));
Add_Code(":\r\n");
Add_Code("\tdec bx\r\n");
Add_Code(GenLabel("print"));
Add_Code(":\r\n");
Add_Code("\tmov al,[bx]\r\n");
Add_Code("\tdec bx\r\n");
Add_Code("\tmov ah,0Eh\r\n");
Add_Code("\tint 20h\r\n");
Add_Code("\tloop ");
Add_Code(GenLabel("print"));
Add_Code("\r\n");
GenLabellncCounter();

}
/..

10wl 048 (S =iuw compalg.y walod) awudl

/...
fexpr:REEL {
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$$=_float;

if(current_op == _WRITE)

{

sprintf(strtemp1, "%d", (int)$1);
Add_Code("\r\n;ecrire ");
Add_Code(strtempl);
Add_Code("\r\n");
WriteNum_Code(strtemp1);

}
}
|[ENTIER {
$$=_int;
if(current_op == _WRITE)
{

sprintf(strtemp1, "%d", $1);
Add_Code("\r\n;ecrire ");
Add_Code(strtempl);
Add_Code("\r\n");
WriteNum_Code(strtemp1);

}

}
...

REEL of ENTIER ,Ss:l 8o lpisle] LEX (sde oz sl @ous)l sd ¢ $1 Lilossw! Wil lou o
:ENTIER ¢ REEL g0 @9 ,0Jl puill o JS €95 e auraill waswd

/...
%token <Tint> ENTIER
%token <Tfloat> REEL

...
5aSeidl 8o pusll aued lcompalg.l wlodl (sJ| asidg
...
{reel} {
yylval.Tfloat = atof(yytext);
return(REEL);
}
{entier} {
yylval.Tint = atoi(yytext);
return(ENTIER);
}
...
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2cld o ial) @il sl &g, ws)l 13] o ecrire @ladb Lolsdl 39Ul adgi wspio 1igy o
;test.asm walodl gusdl g alsui 9 0oy

.MODEL small
.stack 100h
.DATA
_NEWLINE_db  13,10,"$"
_TEN_ dwlO
_ZERO_ equ 0
_N_ di6 dup(0)
.CODE
start:
;ecrire a
mov dx,0
mov ax,a
mov c¢x,0
lea bx, N_
nexto:
div_TEN_
cmp ax, ZERO _
jz ax0
jmp contO
axo:
cmp dx,0
jz endO
contO:
add dx,48
mov [bx],dx
inc cx
inc bx
mov dx,0
jmp nextO
endO:
dec bx
printO:
mov al,[bx]
dec bx
mov ah,0Eh
int 10h
loop print0
end start
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€9 0w 9l 89y> psio bo] Lol b JSoir sl sliw sl o lire @lal (] WV Jass
Lo legs by 50V &,8,=dl whhuiol) dcuidl ,cntad> ol pumo 2o of @u8,> aludw

lire s ; lire car;
mov dx, offset s mov ah, 01h
mov ah, OAh int 21h
int 21h mov car, al
mov di, offset s
xor bx, bx
mov bl, [di+1]
mov byte ptr [di+bx+2],'$'
mov dx, offset NEWLINE_
mov ah, 9
int 21h
read daclall Sgiwo sde S b
/...
read:IDENT {
if(sym_check($1))
{

Add_Code("\r\n;lire );
Add_Code($1);
Add_Code("\r\n");
if(get_sym_type($1) == _chr)

{

Add_Code("'mov ah, 01h\r\n");
Add_Code("int 21h\r\n");
Add_Code("'mov ");
Add_Code($1);

Add_Code(", al\r\n");

}

else if(get_sym_type($1) == _str)
{

Add_Code("mov dx, offset ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("mov ah, OAh\r\n");
Add_Code("int 21h\r\n");
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Add_Code("mov di, offset ");

Add_Code($1);

Add_Code("\r\n");

Add_Code("xor bx, bx\r\n");

Add_Code("mov bl, [di+1]\r\n");
Add_Code("mov byte ptr [di+bx+2],'$"\r\n");
Add_Code("mov dx, offset _NEWLINE_\r\n");
Add_Code("'mov ah, 9\r\n");

Add_Code("int 21h\r\n");

}
}

}
IDENT VER read {

if(sym_check($1))

{

Add_Code("\r\n;lire *);
Add_Code($1);
Add_Code("\r\n");
if(get_sym_type($1) == _chr)

{
Add_Code("mov ah, 01h\r\n");
Add_Code("int 21h\r\n");
Add_Code("'mov “);
Add_Code($1);
Add_Code(", al\r\n");

}

else if(get_sym_type($1) == _str)
{
Add_Code("mov dx, offset ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("mov ah, OAh\r\n");
Add_Code("int 21h\r\n");
Add_Code("mov di, offset ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("xor bx, bx\r\n");
Add_Code("mov bl, [di+1]\r\n");
Add_Code("mov byte ptr [di+bx+2],'$"\r\n");
Add_Code("'mov dx, offset NEWLINE_\r\n");
Add_Code("'mov ah, 9\r\n");
Add_Code("int 21h\r\n");

}
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}

...

305Ul (o ashndll 0id Josmiwiiw Tauius=ll 9 axyall pusll 8<,8 e 13lo

_ENTER_equ 13

mov c¢x,0

nexto:
mov ah,00h
int  16h
mov ah,0eh
int  10h
cmpal, ENTER_
je endO
cmp al,'0’
jb endO
cmpal,'9’
ja endO
push ax
mov ax,cx
mul _TEN_
MoV CX,ax
pop ax
mov ah,0
sub al,48
add cx,ax
jmp nextO

endO:

mova, CX Il 559,801 Lao il aud hixiw sddl xS Al 42 @

pouid (s (13) ENTER L)l @od Jiow sl _ENTER colidl e 2o sl Vol zlizi
:CODE_GEN.H waloJl Sgiann _sle 1is 5 wbLI

/...

void Dispose_Code()
{
fprintf(fcode, ".MODEL small\r\n.stack 100h\r\n.DA TA\N\N");
fprintf(fcode, "_NEWLINE_\tdb\t13,10,\"$\"\r\n");

fprintf(fcode, "_TEN_\tdw\t10\r\n");

fprintf(fcode, "_ZERO_\tequ\tO\r\n");

fprintf(fcode, " _N_\tdb\t6 dup(0)\r\n");

fprintf(fcode, " _ENTER_\tequ\t13\r\n");
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fprintf(fcode, "%s", data_section);
fprintf(fcode, ".CODE\r\nstart:\r\n");
fprintf(fcode, "mov ax,@data\r\n");
fprintf(fcode, "mov ds,ax\r\n");
fprintf(fcode, "%s", code_section);
fprintf(fcode, "\\nmov ax,0C07h\r\n");
fprintf(fcode, "int 21h\r\n");
fprintf(fcode, "\\nmov ax, 4C00h\r\n");
fprintf(fcode, "int 21h\r\n");
fprintf(fcode, "end start\r\n");
fclose(fcode);

}
1.

Ao pgsiw sallg WriteNum_Code J ag,Liwedl ReadNum_Code alluJl s &liSq
bbb JSir sle sanoll sagiol) i 5 axo and by o 56

...

void ReadNum_Code(char *var)
{
Add_Code("mov cx,0\r\n");
Add_Code(GenLabel("next"));
Add_Code(":\r\n");
Add_Code("\tmov ah, 00h\r\n");
Add_Code("\tint 16h\r\n");
Add_Code("\tmov ah, OEh\r\n");
Add_Code("\tint 20h\r\n");
Add_Code("\tcmp al, ENTER_\r\n");
Add_Code("\tie ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");

Add_Code("\tcmp al,'0"\r\n");
Add_Code("\tjb ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");

Add_Code("\tcmp al,'9'\r\n");
Add_Code("\tja ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");
Add_Code("\tpush ax\r\n");
Add_Code("\tmov ax,cx\r\n");
Add_Code("\tmul _TEN_\r\n");
Add_Code("\tmov cx,ax\r\n");
Add_Code("\tpop ax\r\n");
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Add_Code("\tmov ah,0\r\n");
Add_Code("\tsub al,48\r\n");
Add_Code("\tadd cx,ax\r\n");
Add_Code("\tjmp ");
Add_Code(GenLabel("next"));
Add_Code("\r\n");
Add_Code(GenLabel("end"));
Add_Code(":\r\n");
Add_Code("\tmov ");
Add_Code(var);
Add_Code(",cx\r\n");
GenLabellncCounter();

}

:compalg.y waloll (sJ| s9%5

/...
read:IDENT {
Il

else if.(.(.get_sym_type($1) ——

(get_sym_type($1) ==
{
ReadNum_Code ($1);
}
}

}
IDENT VER read{

I

else if.(.(.get_sym_type($1) ——

(get_sym_type($1) ==
{
ReadNum_Code ($1);
}
}
}

...

_int) ||

_float))

_int) ||

_float))

o sl sdlgall 3eS)l adgi haad sy lire @Il golsdl seSUl sy o g
;e Wl saclall oo weSs dladl,asbl dauluzdl ollos)l (x8lg pusll o lusioll

affect:_er IDENT AFFECT fexpr

68




e oo et

595 o aoslal ashall Ol | @ s (sudsi Mo Lpadawlgs action sémantique Vol cowns

low!| adoce Jios gzl

/...
affect:_er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("
<-..\nn");}expr{

if(sym_check($2))

{

...
if((sym_type==_int) || (sym_type==_float))
{
MDENT 41 ol sUiwly peds

}

else if(sym_type==_chr)

{

MNDENT o1 {eoudl sUwly agds
Add_Code("'mov ");
Add_Code($2);
Add_Code(",al\r\n");
}
}

}
|_er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("

<-..\nn");}sexpr{
if(sym_check($2))

{
/...
if((sym_type==_int) || (sym_type==_float))
{
NDENT & &ossdl sl pgis

}

else if(sym_type==_chr)

{

MNDENT 4! sl sl pgis
Add_Code("mov ");
Add_Code($2);
Add_Code(",al\r\n");
}
}
}

/...

raaddedl Bk o (89> e (| B> slowl psiiw 3] ,9s,=dl 2o Joleil Ll
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mov car, al
ral Jsewod] 515 Bzl @oud gaas Ol OV (sé ,pa2iodl oowl g8 car cus
/...
sexpr:CHAINE {
/...
}
|CARA {
...
else if(current_op == _AFFECT)
{
Add_Code("mov al, ");
Add_Code($1);
Add_Code("\r\n");
}
}
...

8 allodl i 2w ol G bd s ol @8,> aladow slow] dls (ol Jais
1o Luad olS 13] Mo ,aals> plasscwl psiodl (sl Wbaiws o5 psio Lol (sde oULul pud
s

s$<-"0123456789";
1595l 13s (sl Lpdgmei

_msg2_ db'0123456789","$"

mov di, offset s po Lo Dadwd! 4] W il wa Sl 4aS
mov si, offset _msg2_
MoV cx,[Si+1]

nexto:

mov al,[si]

cmpal,0

jz endO

mov byte ptr  [di],al
inc si

inc di

dec cx

cmp c¢x,0

je endO

loop next0

endO:
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Ui o sexpr saclall (J| affect saclall o susiodl pow] Jsis ol ] gliziw o=
:strtempl oVlosiw VI sasioll wdgoll jueioll (89 alhax:

...
affect:_er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("
<-..\n\n"); Hexpr {
...
}
|_er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("
<-..\n\n");strcpy(strtempl,$2);}sexpf
...

}

...
:sexpr:CHAINE éacla)l Sgiwn (sle pid Jodl (8L Lol

/...
sexpr:CHAINE {

...

else if(current_op == _AFFECT)

{

strtemp = GenStrident();
Add_Data(strtemp);
Add_Data("\tdb\t");
Add_Data($1);
Add_Data("\"$\"\r\n");
Add_Code("mov di,offset ");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("mov si,offset );
Add_Code(strtemp);
Add_Code("\r\n");
Add_Code("'mov cx,[si+1]\r\n");
Add_Code(GenLabel('next"));
Add_Code(":\r'\n");
Add_Code("\tmov al,[si]\r\n");
Add_Code("\tcmp al,0\r\n");
Add_Code("\tjz ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");
Add_Code("\tmov byte ptr [di],al\r\n");
Add_Code("\tinc si\r\n");
Add_Code("\tinc di\r\n");
Add_Code("\tdec cx\r\n");
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Add_Code("\tcmp cx,0\r\n");
Add_Code("\tjz “);
Add_Code(GenLabel("end"));
Add_Code("\r\n");
Add_Code("\tloop ");
Add_Code(GenLabel("next"));
Add_Code("\r\n");
Add_Code(GenLabel("end"));
Add_Code(":\r'\n");
GenLabellncCounter();

}

}

...

O 188> usio | (09> suio Slw] 39S Wgiw as),lall Guai o legs Mpw s OB
0a> o adlo] lude wswd fexpr -> IDENT saclall o gblan wlueiodl JS ol Lo o
dacla)l (9 >g>g0ll IDENT ol @oud adl sicuuow Sl jusiodl g9 335 @oud Joxy
ol @lay 8 dic zraiw 9 AffectIdentType jusioll 138 (swouwiow fexpr -> IDENT

:compalg.y

%{

#include<conio.h>

#include<math.h>

#include "d:\lex_yacc\exemples\lcompalg.c”
#include "d:\lex_yacc\exemples\SYMB_TAB.H"
#include "d:\lex_yacc\exemples\CODE_GEN.H"
int errors=0;

int current_type;

int AffectldentType;

/...

9 (Lint, _float, _str, _chr) aJ aous)l slowl v Sl jusioll g9 jusiodl 1ig) dowiw g
:affect saclall &y 9 s

/...
affect:._er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("
<-
..\n\n");strcpy(strtemp1,$2);AffectldentType=get_s ym_type($2);}fex
pr {
/...
}

|_er IDENT AFFECT {Add_Code("\r\n;");Add_Code ($2);Add_Code("

<-
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..\n\n");strepy(strtemp1,$2);AffectidentType=get_s ym_type($2);}sex
pr {

fexpr -> IDENT sacla)l Sgiuw (sle aloSicwd s3I bl

/...
fexpr:REEL {
/...
}
[ENTIER {
/...
}
[IDENT {
/...
else if(current_op == _AFFECT)
{
if(AffectldentType == _str)
{

Add_Code("'mov di,offset ");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("mov si,offset ");
Add_Code($1);
Add_Code("\r\n");
Add_Code("'mov cx,[si+1]\r\n");
Add_Code(GenLabel("next"));
Add_Code(":\r\n");
Add_Code("\tmov al,[si]\r\n");
Add_Code("\tcmp al,0\r\n");
Add_Code("\tiz ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");
Add_Code("\tmov byte ptr [di],al\r\n");
Add_Code("\tinc si\r\n");
Add_Code("\tinc di\r\n");
Add_Code("\tdec cx\r\n");
Add_Code("\tcmp cx,0\r\n");
Add_Code("\tjiz ");
Add_Code(GenLabel("end"));
Add_Code("\r\n");
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Add_Code("\tloop ");
Add_Code(GenLabel("next"));
Add_Code("\r\n");
Add_Code(GenLabel("end"));
Add_Code(":\r\n");
GenLabellncCounter();

}

}

}
Il...

55 alosin bo JS 1ondr> siio | s8> susio g A il Wl Lk s o)
al Yzl 58 03bow] sholl (sd,=)l psioll doud gaog

/...
fexpr:REEL {
/...

IENTIER {
/...

[IDENT {
/...
else if(current_op == _AFFECT)

{
else if(AffectldentType == _chr)

{
Add_Code("mov al, );
Add_Code($1);
Add_Code("\r\n");

}

}

}
1.

lia Wad vV d,ue g streat g strepy S Bg,sdl JowMw Gw pi sl Oldosdl Joliiow
geozdl 308 2oy cspis Ld 5 bl (Il VI o eoie @xon i 9 e QLS
.9, wlusiodl (sJ] Wg =l JwMaw 9 a9 ,=dl wlyusioll sLowl Lol
o oduuoll daclell a8l 9 axzall wlugiodl w SWYI wldoc <clpil W sy
r s - b o whodl wliie L] bowl las— sbwV

affect:_er IDENT AFFECT fexpr
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JoiS| sic g AX Jzewodl 31 lpoog o5 fexpr 9 83g>g0)l wblwsdl pla)l lule
,mov $1, AX >¢SJl alawley IDENT uziodl (sJl AX (59 859>g0)l @oudll xws daclall
Mpw 9o a6V Vol 351 13 S

/...
affect:_er IDENT AFFECT { /.. %] Mexpr  {
if(sym_check($2))
{
/...
if((sym_type==_int) || (sym_type==_float))
{
Add_Code("mov ");
Add_Code($2);
Add_Code(",ax\r\n");
}
/...
}
}

...

o fexpr s 839>g0Jl OlLlusdl @iu pid 9 lngs o) 929 aomwl 9 puziodl yol WV Csowis)
bo] Joxaw int gg5 0 CurrentOp avuwidy jusio J| gliw ,ax Jzwodl Jl @ouowdd
&)l dwiow @zl 038 59 9 W adoc Sl luad a>g V &l sasi sl 9 NULL @ousll
PLUS Mo CurrentOp jusioll aond oS 13] Lol ,mov ax, 112 é,.uwle ax (J| adlxzll

radd ax, 112 1, 2ozl s sl adosdl Ol csusy 1igd

/...

int errors=0;

int current_type;

int AffectldentType;

int CurrentOp = NULL;
/...

fexpr saclall Sgimo (sde leds § CurrentOp J adlsdl doudl] sassow ol

/...
fexpr:REEL {
/...
}
|[ENTIER {
/...
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|IDENT {
/...
}
|fexpr PLUS {CurrentOp = PLUS;} fexpr {
if(($1 == _int) && ($4 == _int))
$$ = _int;
else
$$ = _float;
}
|fexpr MOIN {CurrentOp = MOIN;} fexpr {
if(($1 == _int) && ($4 == _int))
$$ = _int;
else
$$ = _float;
}
[fexpr MULT {CurrentOp = MULT;} fexpr {
if(($1 == _int) && ($4 == _int))
$$ = _int;
else
$$ = _float;
}
[fexpr DIVS {CurrentOp = DIVS;} fexpr {$$=_f loat;}
IMOIN fexpr %prec NEG {$$=9% 2}
[fexpr PUIS {CurrentOp = PUIS;} fexpr {$$=91;}

|PARG fexpr PARD {$$=%$2;}

...

cU3S g fexpr -> REEL g fexpr -> ENTIER aclga)l Sgiuw (sle aoid Joo)l s3L Lol
wJ| CurrentOp aoud gl s OMl aclgsll o 8acld S alpy 9 o fexpr -> IDENT
:NULL

/...
fexpr:REEL {
/...
CurrentOp = NULL;
}
[ENTIER {
/...
CurrentOp = NULL;
}
[IDENT {
/...
CurrentOp = NULL;
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}

...

108 cullsl W) sazoll 568Ul ,PLUS g NULL (s CurrentOp J acuwidb oVl Jpul

/...
fexpr:REEL {

/...
if(CurrentOp == NULL)
{
Add_Code("mov ax, ");
Add_Code(strtempl);
Add_Code("\r\n");

}
else if(CurrentOp == PLUS)

{

Add_Code("add ax, ");
Add_Code(strtempl);
Add_Code("\r\n");

}
}
CurrentOp = NULL;

}
[ENTIER {
/...

else if(current_op == _AFFECT)

{
sprintf(strtemp1, "%d", (int)$1);
if(CurrentOp == NULL)
{
Add_Code("mov ax, ");
Add_Code(strtempl);
Add_Code("\r\n");

}
else if(CurrentOp == PLUS)

{

Add_Code("add ax, );
Add_Code(strtemp1);
Add_Code("\r\n");

}
}
CurrentOp = NULL,

}
IDENT {
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if(sym_check($1))
{
/...
else if(current_op == _AFFECT)
{
/...
else if((AffectidentType == _int) ||
(AffectldentType == _float))
{
if(CurrentOp == NULL)
{
Add_Code("mov ax, ");
Add_Code($1);
Add_Code("\r\n");

}
else if(CurrentOp == PLUS)

{
Add_Code("add ax, ");
Add_Code($1);
Add_Code("\r\n");
}
}
}
}
CurrentOp = NULL,

}

...

J31s 6 aousll gog peiiw ,6%10 ades)l Wio Luad oS 13 ,MULT adosl (sJ| Jau
CJess 13l ,CurrentOp ,ussoll (58 MULT ados)l Liolol sssow el am ,ax ol
vewall adoc Sy dls ae sub ax,6  plaxiowl AX Jsewodl o 6 aowsdl 2laiw
s ls) Ulowsdl 8 zdleall wdg gol o ol 8o adleoll wdg) leoly Llas] 1 wgSuw
9 0=l 9 (eladl 363)l (59 usiw ,(Optimisation du code gl 3¢SJl s audoc
.CurrentOp .ol NULL aJl=JI

b aclad OVl o ax Joewodl Job Il usiodl o @il dowsll giogr peds o)
powl Joxi 809,> alwdw UgSuw Sl TempReg powl Wso i 9 lpoog) pgbiw
603> adoc Ludslo 15] 9 els as @il adosdl BlLbl 2>V allaiwoll doudll gl 2ol
s W sa> adec Sl Jls oS5 o 15] bl ,TempReg Sgixo g0 lpymiw Wl
r VS @ladl (9 ax Jmewodl pmaai Lol ¢ affect saclall ales (9 ax _sJITempReg

/...
int CurrentOp = NULL;
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char TempReg[16];
/...
affect:_er IDENT AFFECT { [*..* Add_Code("mov ax,0\r\n");}fexpr
{

if(sym_check($2))

{

/...

if((sym_type==_int) || (sym_type==_float))

{

Add_Code("add ax,");
Add_Code(TempReg);
Add_Code(",ax\r\n");
Add_Code("mov ");
Add_Code($2);
Add_Code(",ax\r\n");

}

/...

}

}
...

:fexpr daclall (a8 CurrentOp usiod) NULL &=l (08 jusid o

/...
fexpr:REEL {
/...
else if(current_op == _AFFECT)
{
sprintf(strtemp1, "%d", (int)$1);
if(CurrentOp == NULL)
{
strcpy(TempReg, strtempl);

}
/...

}
CurrentOp = NULL,;

}
IENTIER {

/...
else if(current_op == _AFFECT)
{
sprintf(strtemp1, "%d", (int)$1);
if(CurrentOp == NULL)
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{
strcpy(TempReg, strtemp1);

}
/...

}
CurrentOp = NULL,

}
IDENT {

if(sym_check($1))
{
...
else if(current_op == _AFFECT)
{
/...
else if((AffectldentType == _int) ||
(AffectldentType == _float))

{
if(CurrentOp == NULL)
{
strcpy(TempReg, $1);
}
/...
}
}
}
CurrentOp = NULL,
}
/...
98 L=y Sl 58Ul ,6%10 ados)l (sJ| sgs
push ax
movax, 6
mov bx, 10
mul bx
mov cx, ax
pop ax

Jzewodl (] dioud wanas o) adesdl cilS 15] X Jmewodl (58 83g>50 8,05V dseiid] 03]
L o o doswd il 15| bl ,z,b ol 8o wwd @wslall adesdl ol Lash 13 V| ax
Sl dsdl e pud 9 X Jmawodl (89 b39=00)l QIR Al e Lpyymiw
NULL &ous)l o] Jomesw SiJl 9 PrevOp ouwl 13a> usio wawas Ui ,ax sd 859>g0ll

réa Ll adosdl @oud of
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/...
int CurrentOp = NULL;
int PrevOp = NULL,;
/...
fexpr:REEL {
/...
else if(current_op == _AFFECT)
{
sprintf(strtempl, "%d", (int)$1);
if(CurrentOp == NULL)
{
strcpy(TempReg, strtempl);

}
else if(CurrentOp == PLUS)

{

if(PrevOp == MULT)

{

Add_Code("add ax, cx\r\n");
}

Add_Code("add ax, ");
Add_Code(strtemp1);
Add_Code("\r\n");

}

else if(CurrentOp == MULT)
{

if(PrevOp == MULT)

{

Add_Code("push ax\r\n");
Add_Code("mov ax, cx\r\n");
Add_Code("mov bx,");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("mul bx\r\n");
Add_Code("'mov cx,ax\r\n");
Add_Code("pop ax\r\n™);

}

else

{

Add_Code("push ax\r\n");
Add_Code("mov ax,");
Add_Code(TempReg);
Add_Code("\r\n");
Add_Code("mov bx,");
Add_Code(strtempl);

81



s om0

Add_Code("\r\n");
Add_Code("mul bx\r\n");
Add_Code("mov cx,ax\r\n");
Add_Code("pop ax\r\n");

}

}

}
PrevOp = CurrentOp;

CurrentOp = NULL,
}
|ENTIER {
/...
else if(current_op == _AFFECT)
{
sprintf(strtemp1, "%d", (int)$1);
if(CurrentOp == NULL)
{
strcpy(TempReg, strtempl);

}
else if(CurrentOp == PLUS)

{

if(PrevOp == MULT)

{

Add_Code("add ax, cx\r\n");
}

Add_Code("add ax, ");
Add_Code(strtempl);
Add_Code("\r\n");

}

else if(CurrentOp == MULT)
{

if(PrevOp == MULT)

{

Add_Code("push ax\r\n");
Add_Code("mov ax, cx\r\n");
Add_Code("mov bx,");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("mul bx\r\n");
Add_Code("mov cx,ax\r\n");
Add_Code("pop ax\r\n™);

}

else

{
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Add_Code("push ax\r\n");
Add_Code("mov ax,");
Add_Code(TempReg);
Add_Code("\r\n*);
Add_Code("mov bx,");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("'mul bx\r\n");
Add_Code("mov cx,ax\r\n");
Add_Code("pop ax\r\n");
}

}

}
PrevOp = CurrentOp;

CurrentOp = NULL;
}
|IDENT {
if(sym_check($1))
{
/...
else if(current_op == _AFFECT)
{
/...
else if((AffectidentType == _int) ||
(AffectldentType == _float))
{
if(CurrentOp == NULL)
{
strcpy(TempReg, $1);
}
else if(CurrentOp == PLUS)
{
if(PrevOp == MULT)
{
Add_Code("add ax, cx\r\n");
}
Add_Code("add ax, ");
Add_Code($1);
Add_Code("\r\n");

}

else if(CurrentOp == MULT)
{

if(PrevOp == MULT)

{
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Add_Code("push ax\r\n");
Add_Code("mov ax, cx\r\n");
Add_Code("mov bx,");
Add_Code(strtempl);
Add_Code("\r\n");
Add_Code("mul bx\r\n™);
Add_Code("mov cx,ax\r\n");
Add_Code("pop ax\r\n");

}

else

{

Add_Code("push ax\r\n");

Add_Code("mov ax,");

Add_Code($1);
Add_Code("\r\n");
Add_Code("mov bx,");

Add_Code(strtempl);

Add_Code("\r\n");

Add_Code("mul bx\r\n™);

Add_Code("mov cx,ax\r\n");

Add_Code("pop ax\r\n");

}

}
}

}
PrevOp = CurrentOp;

CurrentOp = NULL;

}
/...

olgizo OIS 15| ,PrevOp zioll (sle Llas| S,m ol 1 V Orall dadoc 395 adgs <l
Ol e Al Oyl ddac g @dosll 03 Jud o ddac buy>l Wl wsasy 1as ©ld MULT
S ue olgizo OIS 15] Lol ,CX Jzeruoll (59 858=>g0J] g daludl ddoasl i sle S,z
Wl 1id oo 9 st ol go> @doc lusow adll wrall ddoc Ol us 1is wL

JiSdg TempReg wddoll jusiodl (58 dlbga=oll dousll (sle Loy, =iow

Slwl ad i Sl sl (sl wamally  affect saclall alps (sl s ol OVl Lide
s 8359>90)l dontll wnai o ,seaioll suiall (sl AX ol b 839590)l sl
Sox V sbowll adece ugS alls> 8 ks L, oV S w9 AX J=wodl (sJ| tempReg

‘NULL J éugluwo Prevop éoud ol i ,cmouVl Luls (8 dwnl, olloc sl
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...
affect:_er IDENT AFFECT { [*..xl Hexpr {
if(sym_check($2))

{
/...
if((sym_type==_int) || (sym_type==_float))
{
if(PrevOp == NULL)
{

Add_Code("add ax,");
Add_Code(TempReg);
Add_Code("\r\n");

}

Add_Code("mov ");
Add_Code($2);
Add_Code(",ax\r\n");

}

}
}

/...

...

e 0C07h &lol go 21 asblao)l sleaiw] lde v ozl @) lowdss JS dusss as
21 aeblio)l wsexiws s s 2wl s @) oo oSew i awileed] dsg) (o W >
2oyl asbléo sdg 4C00h alloll go

mov ax,0C07h ; Function OCh = "FLUSH BUFFER AND READ
;STANDARD INPUT"

int 21h ; Waits for a key to be pressed.

mov ax, 4C00h ; the exit fuction [4C+no error (00)]

int 21h ; call DOS interrupt 21h

:CODE_GEN.H wloll Sgiwn sle puy SUS

/...
void Dispose_Code()

{
fprintf(fcode, ".MODEL small\r\n.stack 100h\r\n.DA TA\N\N");

fprintf(fcode, " NEWLINE_\tdb\t13,10,\"$\"\r\n");
fprintf(fcode, "_TEN_\tdw\t10\r\n");
fprintf(fcode, "_ZERO_\tequ\tO\r\n");
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fprintf(fcode, " _N_\tdb\t6 dup(0)\r\n");
fprintf(fcode, " _ENTER_\tequ\t13\r\n");
fprintf(fcode, "%s", data_section);
fprintf(fcode, ".CODE\r\nstart:\r\n");
fprintf(fcode, "mov ax,@data\r\n");
fprintf(fcode, "mov ds,ax\r\n");
fprintf(fcode, "%s", code_section);
fprintf(fcode, "\\nmov ax,0C07h\r\n");
fprintf(fcode, "int 21h\r\n");
fprintf(fcode, "\r\nmov ax, 4C00h\r\n");
fprintf(fcode, "int 21h\r\n");
fprintf(fcode, "end start\r\n");
fclose(fcode);

}
1.

s 990V s (sde OVl > (sJ] obszul Lo wymd

al gori t hne alg
enti er resultat,a;

debut
ecrire"Entrera=";
lirea;
resultat<-5*a+10;
a<-resultat;
ecrirel"a="a;
fin.

S TEST.ASM wilodl (sde Jamiw alusnis 3 COMPALG.EXE o yioll Jgi dsle] s
test.alg walol (58 s9>g0)l (Ll ous,e2lVl das il

.MODEL small

.stack  100h

.DATA

_NEWLINE_db  13,10,"$"
_TEN_  dwil0

_ZERO_ equ 0

N db6 dup(0)
_ENTER_equ 13

a dwe dup(?)
resultat dw 6 dup(?)

~msg0_  db"Entrera=","$"
_msgl_ db"a=","$"
.CODE
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start:
mov ax,@data
mov ds,ax

.ecrire "Entrera ="
mov dx, offset _msg0_
mov ah, 9

int 21h

lire a

mov cx,0

nexto:
mov ah, 00h
int  16h
mov ah, OEh
int  10h
cmpal,_ ENTER_
je endO
cmpal,'0’
jb endO
cmpal,'9’
ja endO
push ax
MoV ax,cx
mul _TEN
MoV CX,ax
pop ax
mov ah,0
sub al,48
add cx,ax
jmp nextO

endO:
mov a,cx

;resultat <- ...
mov ax,0
push ax
mov ax,a
mov bx,5
mul bx

MoV cX,ax
pop ax

add ax, cx
add ax, 10
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mov resultat,ax

a<- ...

mov ax,0

add ax,resultat

mov a,ax

mov dx, offset  NEWLINE__
mov ah, 9

int  21h

.ecrire"a="

mov dx, offset _msgl
mov ah, 9

int 21h

;ecrire a
mov dx,0
mov ax,a
mov c¢x,0
lea bx, N_
nextl:
div. _TEN_
cmp ax, ZERO _
jz axl
jmp contl
ax1:
cmp dx,0
jz endl
contl:
add dx,48
mov [bx],dx
inc cx
inc bx
mov dx,0
jmp nextl
endl:
dec bx
printl:
mov al,[bx]
dec bx
mov ah,0Eh
int  10h
loop printl
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mov ax,0C07h
int 21h

mov ax, 4C00h
int 21h
end start

o ludl 568Ul 3 @i weSx) WinAsm Studios zwlyy jyxo 9 asall ¢ 68Ul guwsl
LSS

e E:'\WinAsm\DosExe.exe

lIne ou plusieurs pages de codes COMN non valides pour ce code de clavier
Entrer a = 2
a = 28
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Wi 05l Baw lo) apline IS Gl (] 295 9 2ok 5 aoud o Wlilasll (8L Lol
ol Jsogll 2yl S il go JSS OLSIl 98 9 @azidl o al>sall 018 (08 L wabyis
ae) Olowds Jo>i S W el V sl Loasdl ac OlwV ..oS) 9 595U Siwass walo augs

W @Vl ae) (| gaosdl
JSIB 0S5 Ol 2 V Ll V| sg> ¢ bVl o) Ol 9 il ellazsW 8)i20)l 9] alpl (59

ale, o8 oSyl all U3k lpxxol (silwbo clio 955 &)l slhasl Jls wols o] o ,al
LS g dll do>, 9 pSde oMol g adas> g alll

olg )l 0ad 2l & LSl 1 (89 j=iodl o> a0l 39S Juoxs
http://www.4shared.com/file/231365377/3f824ec0/exemples.html

http://www.mediafire.com/?zy2eynnlqgaj

http://www.snapdrive.net/files/618263/CompilerLesson/exemples.zip
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